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!�� ������ ���� !����������� ���%������ ��� 3
���������� 4������ ��� 4
56�
� 
����� �������� �����	�"�' ��� �� 7�����
� ��� 8
������"��	 ��� ������� ���$
������
� �������� ���������� &
���# !����� 7������������� ����� �� ������ ����� ���
"�
����� �������
� ��� .��������� 
�� ������� ����
� ��� 9��%���
�� 
� ��

�� ������� �
� ��� 1�%����� �� ��� 4������������������#

7� ��� 
�����
%���� �������� �����	�" &����� ����� �	����� .
����
�$:,$
4���� �� ����� ��&� ��� ������� �
� &�����;������ 1��<�	������  �������� 
��
������� ����� ��%�����
������� .����$��������� 	��
����  ������' 
� ����	� 
��
������ ���# !�� �������� 1��<�	������ �%����=�� ������� ���� ��
%�� ��� :') ��2

���# 4
� ��� ���%����=����� !���	���� 	��� ��� ����������%����
� ��� 7��������$
������� ���� �
� ������ &�����' ��� ��� ��������� ����� ����������# >
� ?�"�������
��� .��������$ 
�� ��� 9��%���
�� 
� �"���� &��� ��� ��@����������� 4
���
 �
�
�&��  ���%������ ����������� 4������������������ ��� ������# !���� ������� 1��$
<�	������ ��
��� �� ��� � �� �������� .�%��
� �� ��� 9����%� ��� 7��������������

�� �
���� ���  ���%��� ?�������������%��������# !�� �� ���&��	��%��� ������� ����$
�	�" ��� �
� >���' ���� 4
56�
� ��� ���� �� 10−9 ���A� �
 �����%���#

>
� .��������
� ����� ���%��� 4
56�
� ��� ���  ���
� 0������� ��� �������$
������ .�
�%�"������� ����������%�# !�� ��� ��� ������
� ������ �������� ���&��$
�� �� ����������� &����� �� ������ 4����� ��� ������� 
�� ;���� ��� ��� 4������
��� ����� ����� �� 9����
 � �
� ��������
�%��� ��� 7�������������� ���� 4�&��$
�
� # �� &���  ���� �' ���� ����������� ���  �6=��� .�
�%������� �� ���� 
��
��� �	�
���� ��";����%�	��� ����������# ������� .�
�%������
 �' ��� ������������
�
�%� ��� !���	�����"������' �
�%� ����������������� ��&�� �
�%� &������ 9����
$
 � ��� ?�������������%�������� ���
���%�� &�����' &����� 3
��������� ��������# 7�
������ >
��������� &����� �
%� ����������%�� ����������%����
� �� 
����$
�
%��' ����� ������%�� B����
� ��� ��� ������������
� ��� ?������ �������
%��� ��

�� ����� ��� 7��� ��������
�� 	��� �� ������# ���� ������ ��%� ��� ����� ��� �
�%�
���� ���	�""
� ��� 7��������������"�� �� ���
��������� ����%����
� ��� �����
��� ��������� 	�����%� ���#

7� ��@����������� ����
� �� &��� ���� ��������� 4
56�
� ��� ?������ ��� .���$
������ ��� 5, 9 ·10−6 ���A�

√
�� ��&# ��� 1, 5 ·10−5 �A�2

√
�� ��� 9��%���
�� 
� ��

������������# ��� ����� 7��� ������ ��� ?� ���� &��� ���� ?��� ��
� ��� 4
56�
� 
�
� ����� ���� ��� 1, 1·10−6 ���A� ��&# 2, 8·10−6 �A�2 ��%� <�&���� C( � ������
� �$
���� �������# ������� &�������������� ����
� �� &��� ������� ����
� ��� ���������
�
� ?��� ��
� ��� 4
56�
� ��
�����# ������� &��� ��� ��� �6=��
� ��� ��� �$
�%��������� ��
%�� �
�%� ��� ����;	����� ��� ?���������
� �"�������� ��&�� ���
����
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�����' ��� �
� �����%��� ��� �� ��������� 4
56�
� 
������ ������#
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1�� "������ ������������ ���%����� ��� 3
���������� �������� �� ��� ����������� ���
��� �%������ �����
���� �� �� �����%  ����%�"� &��%� &�� �������� �� ��� 7�����
$
�� ��� 8
���
� D"��%� �� ��� ������� ���������� �������# 1��� �������� ������ ��
"�������� 
��� �� "��%����� ����
�� ��������� �� &��� �� �%%���������� ��� �� �����
�� ��� ���� �������������� ��%���3
�#

7� ��� ������� ���� �����%  ����%�"�' �����$%����� .
����
�$:, ����� ��� ��
�$
%��� �� � ����� �������� ���� &��� ��;��� ���<�%������# D� �����' ��� ����� ���
%��������� �"���' ������%��� ��� �
"����"���� ��� � �� �� ���
%�� ����$�"������ 
"��%��� ����� �� � .���� ����������# 1�� �����% ���<�%������ ��%���� �� ���� ��
:#) ��2# ���� ��� �
���3
��� ����%���� "��%���' ��� "���� ����� �� ��� �������$
������� ��%�
��� "���� ������ %�
��� �� �������� ���%�� �� ����������# ��� ���
���%���������� �� ��� �������� ��� ��� �%%��������� "���� ����� � ��@�������� ���
"
�� �&� ���
������
��� �"������ ���� ��������������� �� ��"��������# ��"� ���� 
���� �""����� ����%����� ���� ��� �������������� ����' ��� ����� �� ���� �������$
�������� ��� 
��� ��� ���� ����$�"������ �� �� ;����# 7� ���� %��; 
������ ���
�����%  ����%�"� ���� ��� � �����
���� �� � ��& 10−9 ���A�#

7� ����� �� ���%� �
%� � �����
����' ��� �E�%� 	��&��� � �� ��� ������� ���$
�� "��%����� �� ���������# 7� ���� &��	' ��� ��������� ��������� �� ���%���� �����
"��%����� �� "�������� ��� �""���� ��� ��� �������� �� ��� �����
� %������
�����
�� ��� "���� ����� �� ��� ��������������# 7� &�� ���&�' ���� ���������� ��� ���
���� �������� ����� %������
���� ��� ����� ��� "������ �����������# �
����� �����
%������
����� &��%� ��� �� "����%
��� %�
��� �� ��� ����%���� "��%���' &��� �����
����������� ��� �
����� %������
����� �� ��� ����$�"������ �� �� ;����' ��� 3
��$
���������� ��������# 7� ���� %����E�' ���������% "���� ������ ��� ����� ���"����
���������� &��%� ��� �@�%� �� ��� ��� ���� ��������� �� ��� ������ ��� ����� ���
%�"������� ��� ��� ���� ������ �� ��� �������������� �� ��� ��� ���� ��
����# ����'
��� ���� �� ��� �������������� ������ ��� � �������� ��"�%� �� ��� ��������������F�
"���� �����#

7� ��@�������� ����
�������' �� �������� �����
���� �� ��� ������� ��� ���������
�� 5.9 · 10−6 ���A�

√
�� ��� �� 1.5 · 10−5 �A�2

√
�� ��� �%%���������� �� ������$

������# ���� �� ���� ������ �� ��� �� ��� ���� C( � ��� �����
���� �� ��%����� ��
1.1 · 10−6 ���A� ��� 2.8 · 10−6 �A�2# ���� %�����
����� ����
�������' ��� "����$
���� �� ��%������ ��� �����
���� &�� ��
����# ����' ��� ����� ����� �� ��� ��%�����
���� �� �������� ��� ����$�"������ "��%��� �� &��� �� ���  ��������� �� �
���$
�������������� ���
%�
��� ���� ���� ������� ����# �������' ��� "������� �"��������$
��� ��� ���%
���� ��� �%������ ��� ����� �����
����#

�������
� ��@�������� ���� ��������������' �������� ������ ' ������������� ��
"���� ����� ��� �����������
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� �������
�� �
+#+ !�� ���&�%	�
� ��� 4������������������ # # # # # # # # # # # # # # # -
+#- !�� �������	 ��� ���������������%��� .������������
� # # # # # # C
+#C �� ������� ������ 4����� # # # # # # # # # # # # # # # # # # # # # # # # G

� �	
 ��������
��� ��
���
�  
-#+ !�� 0��
����� ?���������
� # # # # # # # # # # # # # # # # # # # # # # ,

-#+#+ !�� .����$������� �
� 	��
������ ?���������
� # # # # # # :
-#+#- !�� ����� ?���������
� �"������ # # # # # # # # # # # # # # # # +C

-#- !�� 9��%�����
� ��� 7�������������� # # # # # # # # # # # # # # # # # +:
-#-#+ !�� >
���������&�%	�
� �� 7������������� # # # # # # # # # # +:
-#-#- !�� ����� 7��������������� ��� # # # # # # # # # # # # # # # # # -C
-#-#C !�� ����������%����
� ��� 7��������������� ���� # # # # # # -H

-#C .�
�%��� 
�� 4
56�
� # # # # # # # # # # # # # # # # # # # # # # # # CG
-#C#+ !�� ?���������
���
�	���� # # # # # # # # # # # # # # # # # # # # CG
-#C#- !�� ��������
�%��� # # # # # # # # # # # # # # # # # # # # # # C,
-#C#C 4������ �� 4����������������� # # # # # # # # # # # # # # # # C*
-#C#G 4
56�
� 
�� �������������� # # # # # # # # # # # # # # # # G-

! �	
 "�����
� #$
C#+ !�� ����� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # GH

C#+#+ !�� �����������;����������������� !���������������� # # # # # # G)
C#+#- !�� �D�4$?����� # # # # # # # # # # # # # # # # # # # # # # # G,
C#+#C !�� 1��"������� # # # # # # # # # # # # # # # # # # # # # # # # # G:

C#- !�� ���������
� ��� ���	��
 � I !�� 0�������� ��� ��%�������� # # H(
C#-#+ !�� D� ��������� ��� ��%�������� ��� �E"�������� I ��� J���$

���%	 # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # H+
C#-#- !�� .���������������
� # # # # # # # # # # # # # # # # # # # # H-
C#-#C !�� .��������������%�� $ !�� 4
�����
� # # # # # # # # # # # # HG
C#-#G !�� 0�����%�� # # # # # # # # # # # # # # # # # # # # # # # # # # HH

���



C#C ����� �
� 	��
������ ?���������
� # # # # # # # # # # # # # # # # # # )(
C#C#+ !�� 4
���
 ��� .����$������������ # # # # # # # # # # # # # )(
C#C#- !�� �� ����� ������$��%	 ��� .����$����� # # # # # # # # # # )C

C#G !�� 9����� ��� .����$����� �
� ������
���%������� # # # # # # # # ))
C#G#+ !�� ��
	�
������� ��� ��������%	� ��� .����$����� # # # # ),
C#G#- !�� �����
� ����
� � � �@�	�� # # # # # # # # # # # # # # # # ):
C#G#C !�� �@�	� ��� ��"�������� ?���������
� # # # # # # # # # # # ,-

C#H !�� 4����
��
� ��� �E"�������� # # # # # # # # # # # # # # # # # # # ,G

# �	
 �%&���'���   
G#+ !�� ��	

� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # ,,
G#- !�� ������� 8
���� # # # # # # # # # # # # # # # # # # # # # # # # # # # ,:

G#-#+ !�� ������� �� # # # # # # # # # # # # # # # # # # # # # # # # ,*
G#-#- !�� ?������� �� # # # # # # # # # # # # # # # # # # # # # # # # :+
G#-#C !�� ��
"������� # # # # # # # # # # # # # # # # # # # # # # # # # :C
G#-#G !�� ��
%������������ ����� � �
�%� ����%��������� ��� ���$

����� 8
���� # # # # # # # # # # # # # # # # # # # # # # # # # # :)
G#C !�� !���	���� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # :,

G#C#+ !�� ��������� �
����������	���� !���	���� # # # # # # # # # # :,
G#C#- !�� K����	��������
� ��� !���	���� # # # # # # # # # # # # # :*

G#G !�� 7�������������� # # # # # # # # # # # # # # # # # # # # # # # # # # # *+
G#G#+ !�� ?�����������	��; 
������ # # # # # # # # # # # # # # # # # # *+
G#G#- !�� 9����� ��� ��%��&� ����6 ��
� �
� ��������
�%���

��� 7�������������� # # # # # # # # # # # # # # # # # # # # # # # *)
G#G#C !�� ���5
�� ���
������%��� �� ��������� �
� ��� ���������$

�%����
� ��� 7��������������� ���� # # # # # # # # # # # # # # *:
G#G#G !�� ����������������� # # # # # # # # # # # # # # # # # # # # # # +(+

G#H !�� 7�������� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # ++G
G#H#+ !�� �E����� �� ��������������
� # # # # # # # # # # # # # # # ++G
G#H#- !�� �����������������
� # # # # # # # # # # # # # # # # # # # # ++G

G#) !�� �������������
� �� ��� 7�������������� # # # # # # # # # # # # # ++:

$ ��� ���������'����
���� (�


���� ��!
H#+ !�� ��������� 4
56�
� # # # # # # # # # # # # # # # # # # # # # # # # # +-C
H#- !�� ������
%�
� �
� ��
%������
� � 	��� # # # # # # # # # # # # # # +-*

H#-#+ !�� 4��
� � 	��� ��� ��������
�%���� ��� ��� ��
%�� # # # +-*
H#C !�� 0��
��������
� �� # # # # # # # # # # # # # # # # # # # # # # # # +CC

H#C#+ !�� �

���%�� 0��
���� # # # # # # # # # # # # # # # # # # # # +CG
H#C#- �
��������������������
	�
��� # # # # # # # # # # # # # # # # # +CH

) *	��� 
�� +

,���� �!-

+ ����.	��� �	��� �#$
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!�� ������
� 
������� ����� .��������� ��� ��� ����� �
� ��� ������ ��� ����� ��

�� ��� �
����������� �����	 ���  ��=�� 7��������# !�� ��������	�
���' ��� �
�%�
��� ����
� ��� ������ ��&�� ��� ��� ���� 
� ��� ?���� ������ ��
��� &�����'
���
������� �� ����� 	��"��E�� !�����	 �
� �������
� 
�� �������������
� ���
4����"�
��' ��� D����� ��&�� ��� ��������� ���	��"�������# �� �� ��� !�����$
"
��������
� ��� ���� ��� � �����
� ���� ��������� ��� .�������� ��%�&���� 	���
��� ���� ΩE = 7, 27 · 10−5 ���A� �� ��� ��6=������
� ��� 10−8 · ΩE ' &�� �����
��������� ��� 1� ���
� � 
� ���� � �� ����"��%�� L+M# !�� 4�&��%�
� �� ������ ��$
��� �
� 
�����%������%����� >����	���� �
� 
�� ��� ���"�
� 
�� ��� N��
� ���� ��
��
	�
�������  ����� �
� 	
���� >����	���� ��� 
� �&��� L-M#

4
� ��� ������ ��� �
����������� �����	 ������� �� ��%� 
� �E"�����������
������
%�
� �� ���� �� 4�"�	�� ��� ��� ������� .��������
���������# ��� "����$
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� 9��%�����
� ������ ������� ��������� ��� ���
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i�
∂

∂t
|ψ(t)〉 = V�|ψ(t)〉 Q-#-R

 � ����# ������ ��� ������ ��%��������' ��� �� .����$������� ��� ��� !���$
N����
$4��� &�%����&��	��' ���%������� �
�%�

�Ej(t, �r) = �Ej,0 %��(φj(�r, t, ϕj)) = �Ej,0 %��(�kj�r − ωLjt+ ϕj) Q-#CR

��� j ε {1, 2}' �� �
��� ��%� ��� �
 ��6�� � ��������$D"������ �� ��� ����� ����
����������/

V� = �ω2|2, �p+ ��keff〉〈2, �p+ ��keff | + �ω1|1, �p〉〈1, �p|
+ �ωi,1|i, �p+ ��k1〉〈i, �p+ ��k1| + �ωi,2|i, �p+ ��k2〉〈i, �p+ ��k2|
+ �ωi,3|i, �p+ �(2�k1 − �k2)〉〈i, �p+ �(2�k1 − �k2)|
− V�( �E1 − �E2) . Q-#GR
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∫
d3p e±i�kn�r|l, �p〉〈l, �p| =
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|ψ(t)〉 = c1(t)|1, �p〉 + c2(t)|2, �p+ ��keff〉
+ ci,1(t)|i, �p+ ��k1〉 + ci,2(t)|i, �p+ ��k2〉
+ ci,3(t)|i, �p+ �(2�k1 − �k2)〉 Q-#)R
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c1(t0 + τ) = e−i(ΣAC−δ12+2ωL1)τ/2

{
c2(t0)e

iφ
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)
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)]}
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c2(t0 + τ) = e−i(ΣAC+δ12+2ωL2)τ/2
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Q�R !�� ��������
� ��� ��%�������� ωL = ωL1 − ωL2  � ������ ��� J��� �� ����$
3
��� ω12 ��� ������ ��"������$N����
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δ12 = ωL −
(
ω12 +

�p �keff

m
+

�|�keff |2
2m

)
. Q-#*R
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��&# ��� ?
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j ��� ��� J���$

 
� � |1〉 → |i〉 
�� |i〉 → |2〉 ����  � ���� �
�%�

ΔAC = δAC
2 − δAC

1 ��&# Q-#+(R

ΣAC = δAC
2 + δAC

1 . Q-#++R
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∫∫∫
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�� σr ���&�����# ��� ���� �������
1��"����
� ��� + μ0 �� ��� ��%� ������� ���� .��
	���� ��� P2,σr ,τπ(σv) �
� �����
���� ��� ('G*#

?%����=��%� 	��� ��� �����
� ��� J��� �� �&����%������%�	��� ��� �
�	���� ���
��%����&��	
� ����� τ ��� ����%�
� -#-, ����%���� &�����' &���� ����
� ���  ���$
%�� ������������� ���
��� &���# !�
���%� ��� �
� �
�� ��� ��� ��������� �@�	��
���� !
�"�
� ��� �� 4�����
� -#C  ���� ��� .���$D���������� �
 �����%����# ?�
	��� �� �
 ����� ����
%����%��� .��
	���� ��� �S����� ��� ?���������
� �"��������
	�����# !�� ��� � ����� ���� ���� .��
	���� ��� 7�������������	��������� 
��

�1������ �
����� �� ��$� �" ��� 2��)���
���� �� ��� ������ �''��)
��������� �
$� ��" !�
��
��� ���"�3 
��� �
$� �� 
 45 "� 0�������%
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�
 ��
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� 0
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�
1�
 � μ? ��
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����
� 1�
 = " �� 

� ��
 '���������
� 1�
 !9 ���

�%����=��%� ��� .��
	���� ��� 4
56�
� ��� 7��������������# 9����� &��� �� ���
��� ����� 4��%������� ���	
�����#

!�� �� ��� ��%������� ��&�� �� ��� ���&������� 4���� �
� ��������� 4������$
�
� �
� ���&��	��%�
� ����� 	��
������ ?���������
� �"�������� ����� �S�����
���� �� ��� ��� ����� �
�	��� �
������ ������/

• �����������/

6 ��������������
� Qφ0 = konst.R ��� 0������
� ��� ����� 	��
������ ���$
����

6 ���3
�����������
� Qδ 
�� ΔR ��&�� ���� 7�������
����������
� ��� ������$
 
� ��� .���$���3
��� 
�� ��� 4�"���
�� ��� J��� �� �&����%����$
��%�	���

6 ���� 7�������
� ��� ?�������������%��������

6 ���=�� ?���������
� ������� �
� .���
� ��� 4���&��	�

• 4����/

6 1���� �����������"����
�

6 0������ ���	������
� ������� �
� .���
� ��� ?�������������%��������
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4
� &��%�� ����� ������ 4�������
� �� �� ��� ���� ���%��������� 7��������$
����� ���� �  ���� &���' &��� ��� ����� �� ��� 0�"����� C 
�� G ���%�������# !��
����
����� ������
� ��%� ��� ��������������
� ��� ?�������������%�������� ��� ���
4������������������ &��� �� ��� ����� �����	�"���� 	���#

��� ��� "��
�����
�� ��� #��������������

N�%���� ��� 9��%�����
� ����� 	��
������ ?������������ ��� ��� �������� �����$
��� ����� � ���' &����� ��%� ������ 4��%����� �
�
%��� ��� ������%��� >
���������$
&�%	�
� ��� 4���� �� ����� 7����������������
	�
� ��������� �
� �������� ����$
��%� 
�� �

���%� �
������������ ����� ?������������# !�� 9��%�����
� &��� �����
�� �����E����  � ����# �����
� �
��� ��%� ��� 4��
� � 	��� ��� 7���������������$
 ���� ��� ����� ����������%����
� ���������# 4�� �
%����� ����� � ��� 9����%��
� 
����� �������� ��������� �� 7������������� 
�� ��� ����
� ���
���������� ������
?� ����# ?%����=��%� &��� ��� ���������
� "�
��������' ��� ������ ����� ������$
����%����
� �� ����%���� &����� 	6����' ��� �
�%� �E����� ���������� ���
�����
&�����#

����� ��� �����
���
�������
� �	 �
������
	����

�� ��� ���
��������� ?� ��� ����� 7�������������� ���%������� �
 	6����' ���6��$
 �� &�� ��� ���&�%	�
� ��� >
������� ��%� ����� ����� ��� ?�3
��� �
� ��������
?�����������"
����# 7� ��� ��� ��������� ������� ?���������
� �"������ 	��� ��� ���$
���� >
����� ���

|ψ(t)〉 =

(
c1(t)

c2(t)

)
Q-#-*R

��� ������� &�����#
!�� 9������������ �� ���� ��%� ������� �
� ��� ������ 7��������������
��
����

��� (
1

0

)
= |1, �p〉 
��

(
0

1

)
= |2, �p+ ��keff〉 . Q-#C(R

����� ���&���
� ��� ����%�
� -#, 
�� -#: 	��� ��� ������%�� ���&�%	�
� �����
>
������� |ψ(t0)〉 ��%� ����� ?���������
� �"������ ��� !�
�� τ ��� ������� &�����
���

|ψ(t0 + τ)〉 = M(t0, τ,Ωeff , φ)|ψ(t0)〉 . Q-#C+R

!�� 0��"������� ��� >�����&�%	�
� ������E M(t0, τ,Ωeff , φ) �� ���� ��%� �����



�	�	 ��� $����������
 ��� *�������������� +*

�
/

M11 = e−i(ΣAC−δ12+2ωL1)τ/2

[
%��
(

Ωeffτ

2

)
− i

δ12 − ΔAC

Ωeff
���
(

Ωeffτ

2

)]
,

M12 = e−i(ΣAC−δ12+2ωL1)τ/2eiφ

[
−i Ω0

Ωeff
���
(

Ωeffτ

2

)]
,

M21 = e−i(ΣAC+δ12+2ωL2)τ/2e−iφ

[
−i Ω0

Ωeff
���
(

Ωeffτ

2

)]
, Q-#C-R

M22 = e−i(ΣAC+δ12+2ωL2)τ/2

[
%��
(

Ωeffτ

2

)
+ i

δ12 − ΔAC

Ωeff
���
(

Ωeffτ

2

)]
.

���� ����� ����
���� �&��%��� �&�� ?�����������"
���� �� ��� ��%� �
� ����%�
� -#C-
��� Ωeff W ( ��&�� ΣAC = 0#

!
�%� �
	�������� 4�&����� ������ �������� 	��� ��� >������&�%	�
� ��� ���$
����� >
������� ��� ������� � 7����������������
	�
��� ����%���� &�����# !����
7����������������
	�
��� 	6���� �� ���������%�� 
�� ����������%�� .�����$
9���T$0��; 
�������� 
��������� &�����# �
����� ��� ����������%�� .�����$
9���T$0��; 
������ �� ���3
������������� ����
� �� ���&����� &��� 
�� �� ��$
�� ��������� .���� �
� ��� ������ �"���%��� 4���
���� �������� LG:M' &�����
�� .����� ������ 4����� ���������%�� .�����$9���T$7������������� 
�����
%��#
!��
  ��6��� ��� �� 4�����
� -#G ��� ��������� ����������#

&�����

� !�=� '����������� ��������

� ��� @���,	��
���,(�������� 2��
*�3 ����� ���
�)����������
 �����),-���A,(�������� 2������3 ��� ��
 �������
 �����*�����
 

�
��
 '����������������������
� +
 ��� '�-,?�
B�
�����
 �����
 ���� �)���������� +
���,
��������� �
������

��

2���� &��� �
%� ��� 9� ��@ O���������%�P ��
���%�' ��� ��%� �
� ��� ������$
�%��� ����� ��� 7�������������� �����%����%� ��� ���������%��� ������%��� ���$
��
�� �������# 7� 4���� �� �
� D"��	 &��� �� ��� ����� �
� ��� π/2 − π − π/2$
�
����3
��� ���������� 0��; 
������ ��� ��%�$>������$ Q�>$R 
�� ��� �
� ���
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π/2−π/2−π/2−π/2$�
����3
��� ���������� 0��; 
������ ��� ����� ��� �����$
����%�� .�����$9���T$0��; 
������ Q?.9$0��; 
������R �����%����# !�� ?.9$
0��; 
������ 
�����%������ ��%� ��� ��� �>$0��; 
������ &�������� �
�%� ���
 ���%������ � .���������� ��� �&�� 7��������������# ?�&��� ��� �>$ ��� �
%� ���
?.9$0��; 
������ �������� �&�� ��&# ���� 4
� 
� �' ��� ����� ���&���� >
�����
|1〉 ���� >
����� |2〉 ������ �# �
����� ��� �>$0��; 
������ �� 7�������� 	��������
����
��	��
�� �������' ��������� �� ��� ?.9$0��; 
������ �������%�� ����
��	��
$
��' �� ��%� <���� ?�����������"
�� ����� �&�� ��
� 1���"���� ���������#

��� ��� �>$7������������� ������� �� ��� ��%� ��� ����� ��� �����E���������
�
��� >
���������&�%	�
� ��� 4���� �


|ψMZ(t0 + τ total
MZ )〉 = M(t0 + τπ/2 + τπ + 2T, τπ/2,Ωeff , φIII)

·M(t0 + τπ/2 + T + τπ, T, φII)

·M(t0 + τπ/2 + T, τπ,Ωeff , φII) ·M(t0 + τπ/2, T, φI)

·M(t0, τπ/2,Ωeff , φI)|ψ(t0)〉 Q-#CCR

��� ��� ������� 7������������������ τ total
MZ = 2τπ/2 + τπ + 2T # !�� !�������
� ���

>
���������&�%	�
� ������� �����E���������
� ��� ��� ���� ?.9$0��; 
������
��
���%� 
���� ���%��� 
�� &��� �� ������ ?����� ����� ��%�� �� � ����# 7� �����
���%��� 0��; 
������ �
�� ��� ���
����� 4
��"����� ��� �&�� 7��������������
��&�� ��� 4
������� ��� 1��<�	������ ����%	��%��� � &�����' ��� �
 ����� ������$
 �
�� ��� 7��������������� ���� ������ ��#

!�� ������ φi �� ��� ��� �� !�������
� ���� ��� ����"��%������ ��%������$
"�����' ��� �
�%� ��� 4���$��%��$��%����&��	
� &
����� ��� ����"��%������
�
��� �
� ��� ������� ����� �
� �"�
 � &�����# !� ��� 4���� �����"
�	� ��� ���
.�%��
� ����
��
���' 	��� ������ �
 t0 = 0  ������ &�����# !�� �� ��� ��������
���	�������� ������ ��� ?�������������%�������� ��� �� <�&���� �
 9� ��� �����
�
���� ��� 
�� &����� &
����� ��� ������ ����
���� �
�%� ��� 4��� ��� ������#

N
�' �� ��� >
����� ��%� ��� 7���������������3
��� ������
���  � ���� ���'
	��� ��� 4��� 
� �&����%������%�	��� �������� &�����# ��� ��� ��� ?��������$
�
� �"������ �
��� ����%���� ��%� P2(t0 + τ total) �
� ��� 9���� �3
����� ��� 0�$
�S������� c2(t) ��� �������� >
�������# �� �� ��� ��%� ����� ��� ��� N
���
� 
δ := (δ12 + ΔAC) 	 Ωeff ��� ��� �>$0��; 
������ ��� 4��� 
� �&����%������%�$
	���

P2(t0 + τ total
MZ ) =

1

2
[1 − %��(ΔΦ)] Q-#CGR

=
1

2

[
1 − %��

(
φI − 2φII + φIII − δπ

2Ω0

)]
Q-#CHR

≈ 1

2
[1 − %��(ΔΦMZ

L )] Q-#C)R

��� ��� ������� ����� ��� ��%�������� ΔΦMZ
L = φI − 2φII + φIII # ����"��%����



�	�	 ��� $����������
 ��� *�������������� -+

�� ��� ��%� ��� ��� ?.9$0��; 
������

P2(t0 + τ total
SRB) ≈ 1

2

[
1 − 1

2
%��(ΔΦSRB

L )

]
Q-#C,R

��� ΔΦSRB
L = φI − φII − φIII + φIV # 4
� ����� ����� 	��� �
�%� ��� ���������

��� 4��� 
� �&����%������%�	��� ��� ����������%����
� ��� 7��������������� ����
ΔΦ �������� &�����# !�� 4��� 
� �&����%������%�	��� &��� ����� �� �E"�������
���� ��� �
���������	���� !���	���� ��������' ��� ������� �� 0�"���� +#C ��&
���
&
��� 
�� ���������� �� 0�"���� G#C 
�����
%�� &���# !�� ����	������ ?� ��� Ξ ���$
�"��%�� �� ������ !���	���� ��� 4��� 
� �&����%������%�	���

Ξ(ΔΦ) := P2(ΔΦ) . Q-#C:R

D��� &������ ���������� ��� ��� ����������%����
� ��� 7��������������� ����
Ξ ����� ������ ��� ��� ����� ��� ?�������������%�������� ���
� � # ������
���%���$
������ ��� ?�������������%�������� ������ ����� ����	� �
 ����� ����%������� ��� 7�$
�������������� ���� 
�� ����� �
� ��������
� ��� 4
56�
� #

�����
� �� ���� ��%� &������ ��&# ����� ������ 4�������
� �� �� ��� �����$
������' ��� ��� ?�������������%������  ��������/ N���� ��� ������� ��&
����� �����
��������������
� ��� �
%� ���� ������	�������� ���&���� ' &��
�%� ��� 4������$
"
�	� ��&# ��� 4
� �� �"������� � ��� 7�������������� ��� ������� &����� 	���#
!���� ����"��%�� ��� �� � ��� ��������� ����	� �� ?� ��������
� 
�� ��� � 
����
�����%��
��� 
� ������� ����������%����
� �� ��� ΔΦL = π/2# ��������� ��� �
���� ����%�
���� 4�������
� �� ��������
� �
������� �� ���%������ ��� �����$
�������# ���3
����%�&��	
� �� 
�� �����
� ��%�&��	
� �� ��&��	�� ���� B�$
���
� ��� δ' ��� ��� ����	� ��� 7��������������� ��� ���
� �# �� ��� ��������
�����
�����  ����� ��� ��� ��6������ ���5
�� ��� �����
� ��%�&�	
� �� �
  ����'
&����� �� ��� ����� ��� ���
���������� 4�������
� �� ��� ����������� ���

����#

/��
�
��
	,�1����� �7����

9��%������� �
�%� ��� �������%��� 4K$?���	$�@�	� �����5
��� ��� 7�������
� ���
?�������������%�������� ��� ���� �������
� ��� 4����# !���� 	���� �� �
�%� ����
B����
� ��� 7�������
� �
 ����� ����%����
� ��� N����
�' ��� �� ����� C$N����

?����� �#4# ��%�� ���������%� ���# !���
� ���
������ ���� B����
� ��� .�������$
���3
��� ��� �������� J��� �� �# N�%� .������� LGCM ��� ����� 4�	�""�
� ��
��� ����������%����
� ��� 7��������������� ���� ���%������� �
�%� δ(ΔAC) ��
�$
��%� �� ��;	����� ��� ���  ���%������ � ��������� ��� 4�"���
�� 
�� ��� ���3
���
��� P2(τ) ��%� ����%�
� -#+:' &��%�� ����� �@�	� �&����� D���
� �� ΔΦ ���$
������# 7�������
��5
	�
�������' ��� ����� �����  �������� ��������' ���
���%���
���� ��� ?���������
� �"������ �
� �
%����� ���� �
�
����%��� ������������ ' &��$
�
� �%����=��%� ���� ������
���%������� ���
������#
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�� ������� <���%� ��� �6 ��%�	��� ��� ��������
� ���  ��������� 7�������
��$
5
	�
����� 
���";����%� �
 ��%���' ����� ��� ���������� 7�������
������
�����
��� ������ ����� ��� ������� &���# N�%� .������� LG+M ��� � 
���� 9���%	��%��� 
� 
��� 0�""�
� �� ��� ��%�������� �� ���� F ′$N����
� ��� 52P3/2$N����
� �
� ���  �$
��������� 9���� 
� ΔAC = 0 ��� ����
�����

q0 =
I2
I1

=

(
1

60(Δ+ω12)
+ 1

4(Δ−Δ2+ω12)
+ 2

5(Δ−Δ3+ω12)

)
−
(

5
12Δ

+ 1
4(Δ−Δ2)

)
(

5
12(Δ−ω12)

+ 1
4(Δ−Δ2−ω12)

)
−
(

1
60Δ

+ 1
4(Δ−Δ2)

+ 2
5(Δ−Δ3)

) , Q-#C*R

&���� Δ2 = 2π · 157 ��� 
�� Δ3 = 2π · 425 ��� ��� J��� �� ����3
����� ���
F ′ = 1 �
 ��� >
��
���� F ′ = 2 
�� F ′ = 3 �����%����' ����� 0�""�
� ��
���� �
�%� ��� ��&�%��
� ��� ��� ����"��%������ K����%�$������$0��S�������
����%���� &
���� LG,M# 7� 4�����
� -#H ��� ������ ����
����� ��� �
�	���� ���
��������
� Δ/2π �
� ���� ��#
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� !�C� :7� ��
� ?����
����,
�
 ��� &D,'���*,/��������
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����
,
����� +
��
������1������
�� ��� �����

8���������� �
� '���������

� ��� :
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���
 ��� /�������

� Δ/2π�

�� ��� ���5
�� ��� ��
	�
������� ��� �����������
� �
 ���������� �%�����
�� �������� ����� 4������"
�	� ��� Δ → 0 �
 ������
 ��# 4������� � ���� � ����
��� �"������ �������� ����	 ��' &��
�%� ��� .����$������� ��� ��� ?���������
� 

����
%���� &���# ��� ���  ��=�� Δ ��� � �� &��� ��� �S����� ��� ?���������
� �$
"�������� ��%� ����%�
� -#+: ���
�����# ���� ��� 4������"
�	� ��� �����
� ���
�
�	����  �&
���' �� �� ����� � ������ �&�� ���� ��";����%�	���  � ������ 7����$
���
��5
	�
�������' �������� � ��� ��� 4��"�
%� �� ��� ?����������
� ��� �������$
�
� Δ 
�	�����%�# !����� �
�	� ��;���� ��%� ��� ����� �����
� �����
����� ���
I2/I1 ≈ 1, 7 
�� ��� ����� ��������
� ��� Δ ≈ 2π · 708 ���#

?� 	��� ��� ��6����� 4K$?���	$�@�	� �&�� 	��"������� &�����' �� ������ ���$
��%� ��� 4�������
� ��%� ����� �������� �����
� ��� ��������� ��%�������� �
�
?���������
� ��������# ?��� ��� ��&
����� 4�������
� �� ������� 
�� ����� ���
7��������������� ��� ��%�� �
�%� ��� .�
�%��� ��� ?�������������%�������� ���������'
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	6���� ����������%����
� �� �����%���� &�����' ��� �
�%� �E����� ����������
������ ��
��� &�����# 9���� ��� �������
� ������ ����������%����
� �� ����� �'
&��� �� ��� ����� 4��%����� ��� .��
����
� ��� ?� ���� �� ����� ������ 7������$
������� ���	
�����#

����� ��� ����� �
������
	�������
��

7� 4��%����� -#+#- &
���  ���� �' ���� ��� ������ ?���������
� �"������ ���� ���
$
������ �S����� �
�&����# ����%��� ���� ��� 1��"����
� ��� 4���� �� 4
������$

� ���%��
� ��� ��%�������� ��&�� ��� �

���%��� 4
���=� ��� ���	�  �	�""���
��� ��� �����
� �"��;� ��� ��%��������# ��� ��%� ����� ��� �� ������ �S����� ���
$
������� ?���������
� �"������ �
 ����� ���
������� 7��������������� ���#

�� ������ ���������� �
 	6����' &��� �
�
%��� ����%�
� -#-, ��� ��� 4���$
 
� �&����%������%�	����� P2(t0 + τ total,ΔΦL)' ��� �
�%� ��� �����E���������
�
���� ��� � ����' ��&������# �����
� ��� � ��� 4��� 
� �&����%������%�	���

P total
2 (t0 + τ total,ΔΦL)

=

∫∫
x,z

∫
vy

dxdzdvy s2D(x, z)f1D(vy)P2(x, z, vy, t0 + τ total,ΔΦL) . Q-#G(R

����� ������ 7�������������� ��� ��� ���"�
� ��� 0����������������� �� ���
�������� 8
����#

��� ��= ��� ��� 8
����
� ��� 7��������������� ���� 
��  ���%������ ��� ��� ��$
���%��� 0��
���� ��� 7�������������� ��� ��� 0�������

K =
Ξ̂

Ξ0
. Q-#G+R

������� ����"��%�� Ξ̂ ��� ?� �����"���
�� 
�� Ξ0 ��� ?� ���������&���# ��� ���
������� 7������������� �� ��� ��%� �
� ��� ����%�
� �� -#C) 
�� -#C, KMZ = 100%
��&# KSRB = 50% ��� ��� 0������� �� �������#

!�� 0������� ��� ������ 7�������������� �� ��� ��%� �
� ����%�
� -#G(# �������
�
�� ��� ��%������"���� ΔΦL �
	������� �������� &�����' &��
�%� ��� ���
��6��� ��
�����
� ��� P total

2 (t0+τ total,ΔΦL) ��������' �
� ��� ��� 0������� ��������� &�����
	���' &�� �� 4�����
� -#) �E��"�����%� ��� ���� ?.9$7�������������	��; 
������
 ���� � ���#

��� ��� ����  �������� �E"������������ ������������� �
� σr = 4, 8 ��

�� σL = 20 �� ��&�� ��� 7������������������� T = 6 ��' Tm = C,':H ��

�� τπ/2 = +- μ� �� ��� ��%� ���
� � ��� ��� �6 ��%��� ������������ 1��"�$
���
�
3
������� ��� 4���� �� 4
������
� ���%��
� ��� ?�������������%�������� ���
�
 ��&�������� 0������� ��� K X -(Y# !�� ���� �� � ������ ��������� &�����
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������ ��$
���%����' �� ��� ����� ���%��� 0��; 
������ ��� �6%���� 4
56�
� �� ������ 4�����
�����%�� &����� ���#

��� �� 4�����
� -#) ������%��
��%�� &���' �� ��� ��%� �
� ���  �&�������
7��������������� ��� ��� ?� ���$�����$����%��
� ���	��� κ �� 4������"
�	� ���
7��������������# 4
� ��� ?��� 
� 

κ =
ΔΞ

ΔΦ
Q-#G-R

��� � ��� ����%��
� ��	��� κ��� ��� ������� +A���# !
�%� ��� ����������� ?�����$
�������S����� &��� ��� ������ ���� ��� κSRB W ('-H ���−1 ��%�� �����%��# ��� ���
�����%����� ?.9$0��; 
������ �� ��� ��%� ��� ����%��
� ���	��� κ W ('(G* ���−1

Q� �# 0�"���� H#+R' &��%��� ����� ��
���%� ��� ������� ���� ��&��%��' &�� &�����$

� �� ��� ������������ �S����� ��� ������ ?���������
� �"�������� ��� �#
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=�� 4%��  ������� &
��� ��� ���5
�� ��� �

���%� ���
� � �� ���$
���������� �
� ��� ?���������
� �"������# !�� 9� ��@ ��� 0��
���� ��� ?��������$
�����%�������� 	��� �����
�%� �� ���� ������ �����%����� ������%�� 0��
���� ��&��
�� ��� &�������������
� � � �

���%�� 0��
���� 
��������� &�����# 4��
� � ���
��� .��������
� ��� 7����������������
	�
� 	��� �� ��������� �
 ����� &�������
.��
	���� ��� 0��������� 	�����# !����� 4�"�	� &��� �������� �  �������� ��
0�"���� G#G#G ��� ������� 
�� 
�����
%��#
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7� ������ 4��%����� ���� �%����=��%� ��� &�%��� � ��� �  �	�
�� &�����' &���� ���
��� ����� 4����������������� ������
"� 7�������	�
��� ������ 	���# D��� ��&��
 ���
��' ��%���� &��  ������ �����' ���� ��� 7������������� �
� ������
����
�$
 �� �������� ���/ ���%�� ����������%����
� �� &����� �
�%� �E����� ����������
���
���%��Z ���� 4��&��� &��� �
�%� ��� ��� K�������� 9���T ���&�%	����� ���$
������
� �
� 9��%�����
� ����� ��� ��� 4������������������ ���������� ������$
����%����
� ��  � ���� LG*IH-M 
�� ���� �� ����� 	
���� ���� �	�������# 7� ���
������ &��� ��� ���"� ����� ��� 4���� �� 7������������� �
�%� ��� ����
����
����� ������"�	���� ���%�������# !���� ����
���� �� ��� 4�&�������� ����� 3
�$
������%��� ��������$D"�������� ����� �
� ����;	����� ��� ����� ��� 1���&�����$
"�	��� ��� ������ 7�������������"����# !�� �����
� ���
���������� !�@������� ���
����������%����
� �� �� �����  � ������ 7����������������
	�
� 	6���� ��� �����
������ ���������
� ��������� &�����#

!�� ���� ��� �������� ���������
� &��� �� ���� ��������%������  � �������/ Q�R
������%�� 
�� �

���%�� ���&�%	�
� ��� ������"�	���� ��&�� ��� ���
����������
����������%����
� ��[ Q��R ��� 49K!$�����E$���������
� �
� �������
� ���
	������%��� 1��<�	����� ��� ������"�	���� 
�� ��� ���
��������� ����;	����� ���
����������%����
� ��� 7��������������� ����[ Q���R 9��%�����
� ��� ���������$
�%����
� �� ����� �������� �����	�"� �
� ��� ����#

8�9 ��� :������
�� ��� ;�	
��.��
����,
����

!�� ����
���� ����� ������"�	���� Ψ(�r, t) ��� ��� �������� 
�� ��� >���"
�	�
(�ra, ta) �
� ��%� (�rb, tb) &��� �
�%� ��� 3
�������%�����%��� ���&�%	�
� ��"���$
��� K(�rb, tb, �ra, ta) ���� ��� 7��� ��� ���� ���� 4���� �"���������

Ψ(�rb, tb) =

∫
dra K(�rb, tb, �ra, ta)Ψ(�ra, ta) Q-#GCR

���%�������# !�� ���&�%	�
� ��"������ ��� ����� �� 4��
� � 	��� ��� ��� 	�����$
�%��� ���	
� Skl' �
�%� ��� ���$���%	$����%�
� 

K(�rb, tb, �ra, ta) =
1

C
e

i
�

Skl(�rb,tb,�ra,ta) Q-#GGR

 � ����# !�� 	������%�� ���	
� &��� �
�%� ��� ������%�� 7��� ��� ���� ��� �� ��� �$
�
�	���� ������ ��� 	������%��� 1��<�	����� �r(t) �&��%��� 4���� �$ 
�� ���"
�	�

Skl(tb, ta) =

∫ tb

ta

dt L(�r(t), �v(t)) 
�� L(�r(t), �v(t)) =
�p2

2m
− V Q-#GHR

�6�
��
���$�3 ������� ��$� 
�� ��� +�����)��� �r �� �� ��� �"'�����)��� �p%
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���%�������' ��� ��� ��������� V # 4�� 4����� ��� ��� ��� 4���� ���%���������
������"�	�� 	���

Ψ(�r, ta) =
1√

���Xa

ei m
2�

YaX−1
a (�r−�rz,a)ei

�pz,a
�

(�r−�rz,a) = Ψa(�r, ta) Q-#G)R

��������� 
� �rz,a 
�� ��� ����� ��������� 7�"
�� ��� 4���� ��� �pz,a  �&
��� &��$
���# Xa ��&�� Ya ����"��%��� ��� ���������$ ��&# ��� ���%�&���� 	���������� ���
��	����# ��� ��� ��������� ������ 4������� �� ����%�
� -#GC 
�� 
���� ���&��$
�
� ��� ����%�
� -#GG �������� &�� ��� ���&�%	�
� ��� ������"�	����

Ψ(�r, tb) = Ψa(�r, ta)e
i
�

Skl(tb,ta) . Q-#G,R

!�� ����
��� ����' ���� ��� �
�%� ��� ���"� ����� �&��%��� ta 
�� tb ���
���������
�����  � ���� ��� ���

ΦProp =
1

�
Skl(tb, ta) . Q-#G:R

������� &����� �����������
 �' ��� �
�%� ��� 9����� ��� ������"�	���� ������$
 ��
��� &�����' �����%��
��� �# ��� ���� 7����������������
	�
� ��� N ?��������$
���"
���� �� ��� ��%� �����
� ���� ����������%����
� ��� 7��������������� ����'
���
���%�� �
�%� ��� ���"� ����� ��� ������"�	����' ���

ΔΦProp = ΦII
Prop − ΦI

Prop =

N∑
j=1

1

�
(SII

kl (tj+1, tj) − SI
kl(tj+1, tj)) . Q-#G*R

!��� ��� <���%� ��%�� ��� ����� � 9����� ��� ����������%����
� ΔΦ# !�� ������
��� 9���T ��� ��� ����� ��%� ΔΦ �
� ���� 9����
 �� �
������# !���� ���� �
�
������ ��� ������� ���%�������� 9����� ��� ���"� ����� ΔΦProp' �
� >&����� ���
����������%����
� ����� � �
�%� ��� ?�������������%������ ΔΦL 
�� �
� !������
��� ����������%����
� ΔΦSep' ��� ��%� ���
�%� �� ���' ���� ��� ������ 1���&��$
���"�	��� &
����� ��� ������� ?�����������"
���� �

���%� ��"������ ����# !�� ���$
�������%����
� ��� 7��������������� ���� 	��� ��� ��%� ��� ?
��� ��� 9����
 �
 ��%������� &�����/

ΔΦ = ΔΦProp + ΔΦL + ΔΦSep . Q-#H(R

4�����
� -#, ��� � �E��"�����%� ���� �>$7����������������
	�
�' ��� �

���%�
�� ��� ������������ ����� �� 9��
 �
� 7������������� ��� ���� �
� ��"���� &���#
!�� 7��
�������� ���������� ��� ���������� ��6=��' ��� �
� 9��%�����
� ��� ������
���� �� 1���� ΔΦL 
�� ΔΦSep ���&���� ����#

7� 4��%����� -#+#+ &
��� ���	
�����' �
� &��%�� ����� ��� ?�������������%������
��� >
����� ����� 4���� �����5
���# 4
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� �����$
���� �
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�� �
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ΔΦL =

N∑
j=1

[
(�kII

j �r
II
j − �kI

j�r
I
j ) − (ωII

j − ωI
j )tj − (φII

0,j − φI
0,j)
]
. Q-#H+R

!�� �������@�����' ��� ��%� �
� ��� �

���%��� ������� ��� ������"�	��� ���
������ 7�������������"���� ��� ��� ���%����=����� ?�����������"
�� �� ���' ����%�$
��� ��%� ��%� LH(M �


ΔΦSep = − 1

2�
(�pII

j + �pI
j )(�r

II
j − �rI

j ) . Q-#H-R

!���� ����������%����
�  ���%�� ��� �����' ��� ���� ����� ����� �
�%� ��� �������
�&��%��� ��� ��������� �������� ��� ������ ���"
�	�� �
� ����%������� ��������
�
�������� &���� Q� �# 4�����
� -#,R#

!�� ������ ����������%����
� ��� ?
��� ��� ���� 9����
 � ��
��� �����/

ΔΦ =

N∑
j=1

1

�

(
SII

kl (tj+1, tj) − SI
kl(tj+1, tj)

)

+
N∑

j=1

[
(�kII

j �r
II
j − �kI

j�r
I
j ) − (ωII
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j )tj − (φII

0,j − φI
0,j)
]

− 1

2�
(�pII

j + �pI
j )(�r

II
j − �rI
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������� ��� �����"���� �� �������
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 ����� ��
	�
����� ��� ����������%����
� ��� 7��������������� ���� ������#

!�� ���������� ��������@����� 	��� ��� ����� ��� ����$�
�	��$1������� LH+M
&����� ��������%�� &�����# !����� 1������ ������ ���� �������
� �&��%��� ���
!�@����� ��� 	������%��� ���	
� �&��%��� �&�� ������ 
�� ��� ���� ���"
�	���
������ ����� ���/

Skl(tj, t1, �r
II , �pII)−Skl(tj , t1, �r

I , �pI) =
1

2
(�pII

j + �pI
j)(�r

II
j −�rI

j )+
1

2
(�pII

1 + �pI
1)(�r

II
1 −�rI

1) .

Q-#HGR
��� ��� ���� ����� �������%��� �������� ��� ������"�	��� ��� ��� ������ ?�����$
����
� �"������' ���� �rI

1 = �rII
1 = �r1' ��&�� ��� ���� �������%�� J��� �� ����3
���

ωI
j = ωII

j = ωL 
�� ����� �������%��� �������
� φI
0,j = φII

0,j = φ0 ��� � 
����
���&���
� ��� ����$�
�	��$1������� ���� ��
���%�� ��������%�
� ��� ������$
����%����
� /

ΔΦ =
N∑

j=1

(�kII
j − �kI

j )
(�rII

j + �rI
j )

2
. Q-#HHR

���� &�%��� � 4
��� � ��� �����' ���� ��%� ��� 9����� ��� ������ ���"� ����� 
��
��� 9����� ��� ?�"�������  � ������� �
������# �� ������ ���� ��%� ��� 9����� 
��� ?�������������%�������� ���� # !�� ��������@������� �� ����� �>$ ��&# �� �����
?.9$0��; 
������ �� ���� ��%� ��� ��%� �� 4���� �� �
 ��� ����������%����
� ��
��%� ����%�
� �� -#C) 
�� -#C, �


ΔΦMZ = �keff(�r1 − 2
(�rII

2 + �rI
2)

2
+

(�rII
3 + �rI

3)

2
) Q-#H)R

��&# �


ΔΦSRB = �keff(�r1 − (�rII
2 + �rI

2)

2
− (�rII

3 + �rI
3)

2
+

(�rII
4 + �rI

4)

2
) . Q-#H,R

!�� ���
��������� ����������%����
� ΔΦ ��� ���� ���
� � ��� ��� ����������
��� 1���&�����"�	��� &
����� ��� ��%����&��	
� # !���� &�����
� &����� �
�%�
�E����� ���������� ��������# !���� ��� �� ���&���� ' ��� 	������%��� 1��<�	������
�
 ���������# �������  ��� �� �&�� �6 ��%�	�����/ >
� ����� 	��� ��� ����� �
�%�
��� �6��� ��� �
���$�� ��� �$����%�
� �� LHGM 
�� �
� ������� �
�%� ��� �� �$
������� 49K!$�����E$���������
�' ��� �� ��� ����� 4��%����� ��� ������� &���'
��������#
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� ��� ��
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�	�	 ��� $����������
 ��� *�������������� -*

K�# 9���T ��� 4���� �� ��� ��� 4����"��	# >��� ��� ��' �
�%� ������ ���������
�
��� �6�
� ��� ��� 	������%��� 1��<�	������ ��� ������"�	���' ���%������� �
�%�
��� �������� 
�� ���%�&���� 	��� ��� >����
�� ��� ��	��� �r(t) ��&# �p(t)/m' �

��������� 
�� �� ��� ����������%����
� ��� 7��������������� ���� �
 ���������#

��� ����� 	������%��� ��������$D"������ V� ������ ��%� ��� 	������%��� 1��<�	$
������ �
� ��� ��������$����%�
� ��

ri(t)

dt
=
∂ V�(ri(t), pi(t))

∂pi(t)

��

dpi(t)

dt
= −∂

V�(ri(t), pi(t))

∂ri(t)
Q-#H:R

	��"�������&���� ���������# N�%� LH)M ��� �� �6 ��%�' ��� �6�
� �� ����� ���%���
����%�
� �������� �� �������� ���� �� ��� �� �������� 49K!$������ ���(

�r(t)
�p(t)/m

)
=

(
\ V9
VK V!

)(
�r(t0)

�p(t0)/m

)
+

(
�ξ

�φ/m

)
Q-#H*R

�������
�%�������# ������%� 	��� ��� �������� �������� ��� >������ ��� ������"�$
	��� ��� ��� >���"
�	� tj ���%������� &����� �
�%�/

�rII
j + �rI

j

2
= �ξj + \�r1 +

V9
m

(
�p1 +

��keff

2

)
. Q-#)(R

!�� ��	����� �r1 
�� �p1 ����"��%��� ��� �����������	��� ��&�� ��� 7�"
����	$
��� �� 4
 �����%	 ��� ������ ?����������
� �"
����# !�� ����������%����
� �
�
����%�
� -#HH 	��� ��� ��%� �����
�%� ����;����� &����� 
�� �� �� ��� ��%�

ΔΦ =
N∑

j=1

(�kII
j − �kI

j )

[
\j�r1 +

V9j

m

(
�p1 +

��keff

2

)
+ �ξj

]
. Q-#)+R
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�� V9 ��&�� ��� ��	��� �ξ ��������
&�����#

9���� �� ��%���� ����� 4��%����� ��� ��� �����	�" ��� ����������%����
� 
������
��� ����%���� &���' ������ ��%� ���� � 4����	
� �� �
 ��� 49K!$�����$
����
�  ���%�� &�����' 
� �� ��� ������� �� 4��%����� ���
	��"���# !�� �����$
����
� ����
�� ��� 9���%��
� ��� 	������%��� ���	
� Skl' &��
�%� ��� 9�����$
�
� ��� ����
������"������� �6 ��%� ���# 4
%� ��� ���&�%	�
� ��� ���������$

�� 7�"
�������� X ��&# Y ���� �
�%� ��� 49K!$������  � ����# ?� 	��� ����
��� ���������
� �
� ������
��� �� 9��%�����
� ��� ����
���� ��� ������"�	�$
��� ���
��� &����� LH)M# !������ ����
� 	��� ��� ���������
� ��
���%� ��&������
&�����# ��� ����� ��� ������� ��� 9����%��
� ������������%��� 1���%��� �6 ��%�#
!��
�%� &��� 4����"��	 �� ���� .�
������������ ����� �
� ���������"��	 ��
���� ] ����� .�
���������������� ���%�������# ������� ����������%����
� ��'
��� �
�%� ������������%�� �@�	�� &�� ������������&����� ���
���%�� &�����' 	6����
�� ���%������� &�����# ������ ����� ��&�����
� �� ��� ���������
� ���� �� ���
4������� ��� 9���T �����
%	����� ���%�������#
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7� ?"�������� �����%���� &�� ��� �� ������ 4����� ��� �������� 4�����������������/
��� �����	�"' ��� ��%� �
� ��� ���� ��;���� 
�� &�� �� 4�����
� -#:  ���� �'
�
� ���%���� ���# !�� �����%����� 7������������� ��� �� ��� ����� �
�%� ��� ?�����$
��������%�������� ���� ��� �# !���� &����� �
�%� �keff ���%������� 
�� ���� �� ���
N���$?��$.�%��
� Qy$4%���R �
� ���%����# !�� ����
���' ��� ��� 4���� �� D��$
����$.�%��
� Qx$4%���R "��"� �����# ��� �� 0�"���� +#C ��&
���' ������� ���
���� �����%����� �����	�" �
� �&�� 7�������������� �
� .��������
� ����� ��@�$
���������� ����
� # �� &��� ���� ��� ?��
����� ��� �� ������ 4����� ��� ���������
4������������������ ���%�������#

!�� ��� ����
���� ��� 4���� ��� ����� m ���%��������� 	������%�� ��������$
D"������ 	��� �� ����� ���%��� �� ��
� &�� ��� �  ��%������� &�����/

V� =
�p2

2m
−m�g�r − m

2
�rΓ̂�r − (�r + �R)Ω̂�p . Q-#)-R

N���� ��� 	������%��� 1��� ���������� V� ����� 9����� ��� ���� ���� �������$
����' ����� ������������ ��������� 
�� ����� .������������# 7� ��������� ����
��� 0��"������� �
� ��� ���� ����� ��;�����/ !�� ��� ��	��� 9��%���
�� 
� ��$
�%��������� ��	��� �� 4��
� � 	��� ���  �� ��"���%��� 9�����' ��� ���� ��� � ���
�
�%� ��� �����&��	�� ϑ' ���  � ���� �
�%�

�g =

⎛
⎝ 0

−Ω2R ���(ϑ)%��(ϑ)
g0 + Ω2R %��2(ϑ)

⎞
⎠ , Q-#)CR

&���� Ω 
�� R ��� ���	�� ��%�&���� 	��� ��&# ��� .���
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g0 = −9, 81 �A�2 ���%�������# 7� ������ D���
� &��� ��� �������� ��� �������$
���� ���%������� �
�%�

Γ̂ =

⎛
⎝ g0

R
0 0

0 g0

R
0

0 0 −2 g0

R

⎞
⎠ . Q-#)GR

?%����=��%� ���������� ��� .������� ��� ����' �� �����E��������
� ���%�������
�
�%� −�Ω[(�r + �R) × �p] = (�r + �R)Ω̂�p' ��� .�������������E

Ω̂ =

⎛
⎝ 0 Ωz −Ωy

−Ωz 0 Ωx

Ωy −Ωx 0

⎞
⎠ . Q-#)HR

!���� ��� ��� ���	�� ��%�&���� 	��� 
�� ��� .���
� �R �� 9��
 ������� ��� ?�����$
������  � ���� �
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� �� -#H: 
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d

dt
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�p(t)/m
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(
Ω̂�R
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)
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Ω̂ 1̂

Γ̂ Ω̂

)
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1
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2
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1
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1
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2
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�g

)
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!�� 1�����$���&�%	�
� �� t ��%�� �� �
� ���%��' ��� ���&���� �� 9����
 �' ���
��� ��� ����������%����
� ��%� ����%�
� -#)+  �������� ����' �
 �E���������#
�� �� ���� ��%� ��� ��� ��� ��������@����� ��� ����� ���������� 9����
 � ��� �
�
������� D���
� �� t/

\ ≈ 1̂ + Ω̂t+
1

2!
(Ω̂2 + Γ̂)t2 +

1

3!
(Ω̂3 + Γ̂Ω̂ + 2Ω̂Γ̂)t3

V9 ≈ 1̂t+
2

2!
Ω̂t2 +

1

3!
(Γ̂ + 3Ω̂2)t3

�ξ ≈ Ω̂�Rt+
1

2!
(Ω̂2 �R+ �g)t2 +

1

3!
(Ω̂3 �R+ Γ̂Ω̂�R + 2Ω̂�g)t3 . Q-#,(R
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7� ����� ������� ?%����� &����� ��� 4���� ������ 
� �� �
� .��������
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�
%��� �
� ����� 7������������� ��� �����	�"� ���� ��� �# D���
9��%��
�	
� ��� 4�� ��������� &��� �����
 ��� ���"�
� ��� ���%��������� 9�$
�
 �������� �� ��� �������� �r1  ������# !�� ��������	��� ��� �����  � ���� �
�%�
�keff = (0, keff , 0) 
�� ��� 4���� ���"
�� �p1 �� ��� ��%� �
 �p1 = m(vx, 0, vz) ���
����� �����	���� ���%�&���� 	��� ���� ������ �
�� ��� ��&� vz = 0, 26 �A�#

7� 1������ -#+ ���� ��� ���������� ����������%����
� �� ������ 7��������������'
��������� ��� ����� ��� ���� ��� ��������� ���������
�' ��� ��� ������ 7����������$
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���%��� 4������ ��� ��� ���� ��
����������%����
� �� ��� ��� ��������� 9����� ��� �
�%� ��� ����������� ���$
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� ��� '�-,
?�
B�
�����
 ������
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� ������ '�����3� :7� ��� '�-,?�
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��� ��� ��
�� 4����
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 � $E ��� �
��������� 	
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 /�������� �
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� ���
������ 4����
1��������
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��������
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 -������� ��
� ������1 �
 ������ 4����
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�
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�

9����� �>$ ?.9$>��� 9���� ��� 9���� ���
Q���� >���R >��� ���#����� ���#�����

�> ?.9
−2Ωzvxkeff · T 2 (T 2 + TTm) + +

�

2m
g0

R
k2

eff · T 3 (T 3 + 3
2
T 2Tm + 1

2
T 2

mT ) 4, 53 · 10−7 7, 03 · 10−7

3ΩzΩyvzkeff · T 3 (T 3 + 3
2
T 2Tm + 1

2
T 2

mT ) 1, 0 · 10−7 1, 56 · 10−7

−3Ω2
z�

2m
k2

eff · T 3 (T 3 + 3
2
T 2Tm + 1

2
T 2

mT ) 2, 95 · 10−9 4, 57 · 10−9
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� # !����� ����"��%�� ��� ��� ���� �� ?� ��% ���%����$
����� ����������%����
� LC-M ��� ��� ����  � ������ ?�����/

ΔΦΩ = −2Ωzvxkeff ς(T, Tm) = −4πm

h
ΩzA = ΔΦSagnac . Q-#,+R

������� ��� ςMZ(T ) = T 2 
�� ςSRB(T, Tm) = T 2 + TTm ��� ��� ������ 7����������$
���	��; 
��������# !�� ��� ��%��������� ��
%�� ����"��%�� A = v2,rvxς(T, Tm)' ���
��� .�%	���= ��%�&���� 	��� v2,r = �keff/2m#

!�� N��&���� 	��� ����� ��@����������� ����
� ��� .��������� ��� ���� ��%�
��%�� �
 ��	�����' &��� �������� � �%����� 	���' &��� ��� ��� ������ �����%������
������� 4
���%��
� �� ������� &��� 
�� ����������� ��� 7�������������� ����%	$
��%��� � &�����# !��� ����
��� �
� �����' ���� ��� ��	��� �keff 0��"������� ��
x$
�� z$.�%��
� �
�&����� 	��� 
�� �
� �������' ���� ��� ��	��� �g ���������



�	�	 ��� $����������
 ��� *�������������� CC

&������ �
�%� ����������� ���
���%��� 9��%���
�� 
� ������
 � ���������� 	���#
������ ��� ����
� ���
���������� ����������%����
� �� ���������' �� ��� ��� ��$
������� 9�����  � ���� �
�%�

ΔΦMZ
a = �a�kT 2 ��&# ΔΦSRB

a = �a�k(T 2 + TTm) . Q-#,-R

7� ������ ����
��� ����' ���� ���� 9��%���
�� 
� �a ������ ��� ?�������������%��$
������ ���� �
�
����%�� ����������%����
� ���
���%�� 
�� ��� 0����"� ��� �����$
������ 
�� ������������ ��� 4������������������ ���6 ��%��# �� �� ���� �����
�����	�"� �&��%��� ����������%����
� ��' ���
���%�� �
�%� .������� 
�� 9�$
�%���
�� 
� ' ���	���������� �
 	6����' ������� ��� ��%� ��� ������� ��&
�����
��@����������� ����	����"���' &��%��� �������� �� ��� ��
""� ��� �# 0�����%�
���������� &
��� LH,M# !���� &��� ��� �&����� 7������������� ��� v′x = −vx ����������'
�� ��� ��� 4���� ���� �� ��� � �� �������� .�%��
�  �������� &�����# ?��� �
$
�
����%� ��� 1��<�	������ ��� ������ 7������������� ������ ���' &�� ����
���' ����
��� �������� ��� ������ π/2$�
���� ��� �������� ��� ������� π/2$�
���� ��� <�&����
������� 7��������������  ���%��' �� ��� ���� !��	��������
� �6 ��%�# ���� &�����
�&�� �6 ��%�� .��������
� �� 
�����%������/

7�� �� ��� ������ ���� ��� ��������	��� �� ��� ������ 7�������������� �� ������
.�%��
� ��� � �� ������  ���%����' ���� �keff = (0, keff , 0) = −�k′eff ' �� 
�����
��� ����������%����
� ��� .������� &� �� ��� ���%�&���� 	�������
� � 	��� ���
������%��� ��%�� 
�� �� ��� ΔΦΩ = ΔΦ′

Ω#
��� 9��%���
�� 
� ������� ��� � �� ������� �� ��� ������ 7�������������� ���


�����%������%��� ������%��� ��� ΔΦa = −ΔΦ′
a# ?� 	��� �
� ��� ?
������ ���

��� ������ 7������������� ��� .��������"����

ΔΦΣ
Ω =

1

2
(ΔΦΩ,a + ΔΦ′

Ω,a) Q-#,CR

�E�������� &�����# !�� 9��%���
�� 
� �"���� �� ��� ��%� ����"��%���� �
� ���
!�@������� ��� ���

ΔΦΔ
a =

1

2
(ΔΦΩ,a − ΔΦ′

Ω,a) . Q-#,GR

7� ����� �&����� ���� ��� � ��� ��������	��� ��� ����� 7������������� �� ���  ���%��
.�%��
� ' &���� �keff = �k′eff  ���# ��� ��%� �� ��� ��%� ΔΦΩ = −ΔΦ′

Ω ��&�� ΔΦa =
ΔΦ′

a# 7� ������ ���� 	��� ��� .��������"���� �
� ��� !�@������� ��� 
�� ���
9��%���
�� 
� �"���� �
� ��� ?
������ ��� �E�������� &�����#

�� �� ��� ��������%	
� ��� ����%���	���
�%��� �� ����� !�@���������
� ���
����� �������' ���� ��� .��������
� ����� �������%��� �keff �� ������ 7����������$
����' ��� ��� .������������
� �
 ������
 �� L-*M# ��� �� 0�"���� G#G ���%�������
&���' ���
��� ��� ���� ��� �������� 7������������� ���� ?�����������������
� ' ���
�
� ��� ?
������ ��� ��� .��������"���� �E��������# ���� �6 ��%�� .��������
� '
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��� ��� ��� .��������"���� �
� ��� !�@������� ��� �E�������� &����� 	���' &���
�� 4
����%	 ��� �������#

4��%����=��� 	��� ��� �
������������� �� ��' ���� ��� ��� ���� "�
�������$
��� 49K!$�����E���������
� ��� ����
���� ����� ������"�	���� �� 4�&��������
����� 3
�������%��� ��������$D"������� ����%���� &����� 	��� 
�� ���
�%� ��$
������� ����������%����
� �� ��� ����  � ����� 7����������������
	�
� �E��������
&����� 	6����# !�� ��� �� 9��%�����
� ��� ��� 	6���� �
� �����%�� ����� ���$
�������%����
� �� ������� 7�������������	��; 
�������� ����%���� ���� &������
�E����� ���������� ������� �� &�����# ���� >
����������
� �������%��� ������$
����%����
� �� ��� ������� 7�������������	��; 
�������� ;���� ��%� ����"����&����
�� ��� .������� LH:M#

7�&��&��� ��� 7������������� ��� ��� ��������� ����������%����
� �� �
56���
	���' �
� � ����	 ��� ��� .�
�%��� ��' ��� ��� 7��������������� ��� ������ ���
��� 
�� �������%�� ����%��� �������# !����� 8
����;����
� ��� ����� ��� �������$
����� 9���
�
� 
�� ����� ��� �����	�"���� ��� ��%�#

��� ��
�
��� 
�� �
$%�
��

.�
�%��� ��������� ��� 4
56�
� ����� ?������# !�� .��������
� ����� 7��������$
������ �
� ��%�"�
����� 7��������������	 ��������� ����� ����  ���
� 0������� ���
.�
�%������
 �# 7� ������ ?���� ����� ������ �����	�"���� ��� �
�������%��� 9�$
�%�����
� ����� ������� �
� 8
����;����
� ��� .�
�%���� ��� ���� ���%������$
��� 4��������������������
	�
���# ������� ��� ��  ����� ��� ������� ��� ?�����$
����
� ' ���� ��� .�
�%��� 
�����%������%��� ���"�
� � ��� ��������
�%��� ���
�������� >
������� ���	�""��� 	��� 
�� ��%� ����� ��� ��������
�%��� ��� 7����$
����������� ���� ������������# �� �� ��� ������%��� 4��
� � 	��� ��� 4""��	�����
��� ?�������������%�������� �� ����� 7���������������3
��� 	��� ��� 7���������������$
 ��� ����� �
� �
� .�
�%��� ���������� ���3
����� �������� ����# �� �
�� ���� ����
��&�%��
� ��� .�
�%�"�������� �����;����# >
��� ���
����� ��%� ��� K����	���
��� .�
�%���� �
�%� ���� 7��� ������ ��� ?� ���� ������� ����� ��� �� ��������#
4�� ����� 4�"�	�� ������ �� ������%	 �
� ��� 4
56�
� ��� 4����������������� ��
��� ����� ���	
����� &�����#

�� �� ��� ��
����!�������
���



!�� >������
� � 	��� ����� 7���������������3
��� ��������� ���� ?���������
���
�	$
���� g(t)' &��%�� ��� ��";����%�	��� �
� 	������� ?�6�
� �� ��� ����������%���$
�
� ��� 7��������������� ���� �� ����� ������
��� �� ?�3
��� ��� �
�	���� ��� >���
���%������# !�� �����
� ����� ���%��� �
�	���� ������ &�� ��� � �
 ��&����� ����/
��� ��� ������ ?�����������"
�� ���� �������"��� � ��� ������ ���������� 
�� ��$
�����
%��� �� ��� "�
"�������� ��� �� ��
����� ��%��# �� ������ g(t) = 0 ����# ����
���� ��%����&��	
� ��� ��� ?�������������%������ ��� � ��� ���� B����
� ��� g(t)'



�	�	 �������� ��� ��+,���
 CH

��� ��� ��� ������%��� >
��������� ��� ��� J��� �� �&����%������%�	���' ��� ���
��� .���$���3
��� ����������' �
 ��&����� ���# 9�;���� ��%� ��� ������� >
�����
��%� ��� ?�����������"
�� �� ����� ?
"��"������� �
� ������ 7��������������
��
�$
���' �� &��� &
����� ��� ������ ����
���� ��� �
� �
%����� ?�����������"
�� ���
��E����&��� ��� g(t) ��&�����# !�� ��� � �����' ���� ��� �
�%� ��� ��%����&��$
	
� �
� �"�
 �� ����� �� ��� ?
"��"���������
����� ��� ������ &���' &�� ��
4��%����� -#-#+  ���� � &
���' 
�� ���� �
%����� ?�����������"
�� �
� ��� 9����$
�
� ���@����� ��� 4���� ������� �� &�����#

�� g(t) ���� ���� �
  ����' &��� ��� �
�%� ���� �������� ��������6�
� 
δΦ ���
���%��� B����
� ��� 7��������������� ���� P2(Φ) �����%����# ��� ����
��&
��� ��� � ��� ��E����� ?���������
� ��� ������
����
� �� �
� ��� ��E������
?��� 
� ��� P2(Φ)' ���� ��� ���� ����������%����
� ��� ΔΦ = π/2# 7� ����� �����
��;����������� ��������6�
� ��� � ����� ���� B����
� ��� 7��������������� ����

δP2 =
∂P2

∂Φ

∣∣∣∣
π/2

δΦ

=
∂

∂Φ

1

2
[1 − ξ%��(Φ)]

∣∣∣∣
π/2

δΦ =
1

2
δΦ, Q-#,HR

&���� ξ = 1 ��� ���� �>$ 
�� ξ = 1/2 ��� ���� ?.9$0��; 
������  ���# ?� �� ���
��%� 
���� 9���%	��%��� 
� ��� ������%��� ?���������
� �
� ?�6�
� �� ��� �����
��� ?�������������%�������� φ(t) ���� ���  ���� 7���������������3
��� �����%���� ���
����
� ��� ���� ��
	�
����� ��� J��� �� �&����%������%�	���

δP2 =
1

2

∫ φ(t0+τInt)

φ(t0)

dφ(t) g(t) =
1

2

∫ t0+τInt

t0

dt g(t)
dφ(t)

dt
. Q-#,)R

������ 	��� ���� ?�6�
� ��� ����������%����
� ��� ��� � ����� ������$ ��&#
����� ���3
�����6�
� ��� ?�������������%�������� ���

δΦ =

∫ t0+τInt

t0

dt g(t)
dφ(t)

dt
=

∫ t0+τInt

t0

dt g(t)2πν(t) Q-#,,R

�����"������� &�����# �� �	���� ��� � �
� ����%�
� -#,) ��� !�;������ ��� ?����$
�����
���
�	���� g(t)'  � ���� �
�%�

g(t) := 2 lim
δφ→0

δP2(t, δφ)

δφ
. Q-#,:R

������� ����"��%�� t ��� >���"
�	�' �� ��� ��� �������"�
� δφ �
������# N
� 	���
g(t) ���
� � ��� ��� 7�������������	��; 
������ ������
��� �������� &�����#
!������ �
� 9���%��
� 	6���� �� LGH' H*M ��%� ������ &�����# �� �� ��� ��%� ���



C) ������� �	 ��� ������������ �&�� ��


��� �>$0��; 
������ ��� ?���������
���
�	����

gMZ(t) =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎩

0 t < −(T + 2τπ/2)
���(Ωeff (t+ T )) −(T + 2τπ/2) < t < −(T + τπ/2)
−1 −(T + τπ/2) < t < −τπ/2

���(Ωeff t) −τπ/2 < t < τπ/2

1 τπ/2 < t < T + τπ/2

���(Ωeff (t− T )) T + τπ/2 < t < T + 2τπ/2

0 t > T + 2τπ/2

Q-#,*R

��&��

gSRB(t) =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

0 t < −(T + 2τπ/2 + Tm/2)
���(Ωeff(t+ T + Tm/2)) −(Tm/2 + T + 2τπ/2) < t < −(T + τπ/2 + Tm/2)
−1 −(Tm/2 + T + τπ/2) < t < −(τπ/2 + Tm/2)
���(Ωeff(t+ Tm/2)) −(Tm/2 + τπ/2) < t < −Tm/2
0 −Tm/2 < t < Tm/2
���(Ωeff(t− Tm/2+)) Tm/2 < t < Tm/2 + τπ/2

1 Tm/2 + τπ/2 < t < Tm/2 + T + τπ/2

���(Ωeff(t− T − Tm/2)) Tm/2 + T + τπ/2 < t < Tm/2 + T + 2τπ/2

0 t > Tm/2 + T + 2τπ/2

Q-#:(R
��� ��� ?.9$0��; 
������# ���� 7��������
� ��� 9�����
� ����
��� ����� ���$
���%���&�%���� ��� g(t)' &�� �� ��� ������ ����

��� ��� g(t) �� 4�����
� -#*
��� ������� ���#

!�� ?���������
���
�	���� ��� ���� ��� ������ �
� �������
� � �� 9��%�����
� 
��� ?�6�
� �� ��� ����������%����
� ��� 7��������������� ���� ��%� ����%�
� -#,,#
7� ��%���� ����� 4��%����� &��� ������ ������ ��&������ 
�� ���� !�������
� ���

&�����

� !�#� '�
����1������

*���
 ��� :

*���
 ��� +
���������������� �7� ��� @	,
?�
B�
�����
 2��
*�3 

� ��� '�-,?�
B�
�����
 2������3�
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7�������������"�������
�%���� ���%�������' ��� �E"���������� 
�� ����������%�
���%�� �
 
� ��%� ���# !�%� 	6���� ������� ��� ��� ���� ���%��������� ���������
�
	�������� ����������%����
� �� ΔΦkonst := δΦ �
� �
�� ��� ��������
� ���$
�
� � �� �@�	��� &�� ��� 4K$?���	$ ���� ��� >�����$�@�	� ����%���� &�����'
&�� ������ �� ��� 0�"����� C 
�� G �
�%� ������ &���#

�� �� ��� �����
�������


���� ���� �
� ��� 9��%�����
� ��� ��������
�%���� �� 7������������� �������$
��
��� � &�����' &��
�%� ������� .�
�%�3
����� ����� 7�������������� �E"������$
���� 3
����;����� &����� 	6����# !��
 &��� ��� �������
� �&��%��� ��� ����
���	
������� ?���������
���
�	���� ��� 7�������������� 
�� ��� �"�	������ ������$
��
�%���%��� ��� ?�������������%�������� Sφ(ω) ��� �������# !���� ����"��%�� Sφ(ω)
����� ��� ������
%	 ��� ��������
�%���� �� ���3
�����
�#

4�� ������ ?%����� ��� �������
� &��� ��� 4��&��� ��� ����������%����
� ���
7��������������� ���� �
� ���� ���
��6��� � ���
������ ��� ����� ��� ?�����������$
��%��������'  � ���� �
�%�

φ(t) = A0%��(ω0t+ ψ) , Q-#:+R

��������# N�%� ��������� ��� φ(t) �� ����%�
� -#,, �� ��� ��%�

δΦ = A0ω0
{Gφ(ω0)}���(ψ) , Q-#:-R

&���� ��� �
�	���� G(ω) ��� ��
����$�������������� �
�	���� ��� g(t) ��������� ���

Gφ(ω) =

∫ ∞

−∞
dt e−iωtg(t) Q-#:CR


�� ��� 7�� ��
����� ��� Gφ(ω0) �
�%� 
{Gφ(ω0)} ���%������� &���# !� ��� ���$
������
������ �
� ����%�
� -#:+ ��� ������� � ψ �
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]
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+
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 �� �� ����� ������ ��������
$
�%��� ��� 7�������������� ���
������ �� ����� �
 ��&�������� ���������� 4
56�
� 
��� 7��������������# ��� ��� ���%� ��� ��� ����
%���%� �� 7������������� ���������
4
56�
� ;���� �� ��%���� ����� 0�"���� �����#

+�� ��� '��

�

!�� ����"
������ ��� 4���� ��� ��%�� &���� ���� ����	� 4��
� � 	��� ��� ?�6$
=�� ��� ��� ������ �
�� �� �
�' &��
�%� ��� ������
� �� ��� �6 ��%���  
���
��	

�������  � ���� ���#

!�� �� ������ �E"������� ����������� ��	

������� Q� �# 4�����
� G#+R 	���
�� �&�� 1����  � ������� &�����# !�� ����� 1��� ��� ��� �� ������� �
�"����	����'

,,
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��� �
� 	������������ K�$0��"������� �
� ��%�� �� �����%��� ?���� �
���$
��� ������ ���# ���� ��� �� ��������������� �
�"��' ���� 7���� �����$�
�"�� 
��
���� 1����$?
����������"
�"��' ��� ��� ������ ����� �������%���	

�� ��� ��$
&� )·10−10 ����# !�� �&���� 1��� ��� ��� �� ������� �E"���������	����' ��� �
�
��������� 4�
����
�	������ �������# !���� ���� 
������������ �
�%� 9��������
 ���%����' &���� � �� �"���%�� >
 
� � ���� 7���
���%��
� ��������# !�� �� ���
�������� 8
���� ������� ��� .���������' ��� ��� �E"������� ��� .
����
� �����$
����' ���� �
� 	������������ �#�����/$0��"������� �
������ ������#

&�����

� =��� &
���
 ��� /�*

��)����� ��� �������
 ()���*���� �� �����1��� ���
�
����
� !� !�,@>�,?����� $� $�,@>�,?����� =� +
�������������*����� C�
����
,'
��������
��
��� �� +�
�
������,4
��� E� ��
�*��
��� "� /�*

�1�
����

!�� �������
� � ��� ��	

�������� ����
 � ��&� *( %�# !�� 4
���
 �����
�
� ����� ��%�� �� �����%��� +-(×*( %�2  ��=�� ���������# ������� !������ �
�
��	

������� 	6���� �� LC:M ��%� ������ &�����#

+�� ��� ������� 0
����

!�� .��������
� ����� 8
���� ��� ��� ��%����������������� ��� �
�%� ��� ���&���
� 
��� ������ ��� ���%��&���� �����%�# !�� .��������
� ����� 8
���� ��� ��� 4�����$
������������� ��� � �� ��� ��
���%� ���"�
%��������# 4
� ����� ��� � ��� ����"��$
%������ ��������' �� ������ ���� -  .
����
�' ���� ����  ��=� ��� � �� 4�����'
"�
"������ �� ����� ���������� �������� >
����� 
�� ��� �����  ���� �� 1��"�$
���
�' �
� ���� &�����;������ 1��<�	����� �� ��� 7���������������� ��� ���%���
�� �
&�����#

�*����� .5!��
1!@LL "�� -5 ��� ��� 0��"
 '��
�%
�*����� !7/?5
5 ,!& ��� 0��"
 �
�
����%
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!�� �� ������ �����	�"���� ���%�������� ������� 8
���� 	��� �� ���� 1��$
����%�&��"
�	��  � ������� &�����# !���� ���� ��� ������� �� ' ��� ?�������$
 �� ��&�� ��� ��
"�������# !�� ������ �������� 8
����� ������ 7��������������
�
� .��������
� ����� ��@����������� �����%����� ���� ����� �������%� �
� ���
�#
���� ��� ������ �������� 8
����' ��� ��� 7�������������������%� 5��	�����' ��� ��
4�����
� G#- ��� �������#

&�����

� =�!� '����������� ���,
�����

� ��� �������
 .
���� ���
��� �� !�,@>� 

� !� $�,@>� 
������ �� �����
��
 &����
���
����������
 �����
 ����� $� ��,

�� ���� ��� 4���������
��������,
�� 21��� &�����

� =�C3�

$���� ��� ,���!
���
�

!�� ������� �� ��� ��� 4
� ���' ����� �6 ��%���  ��=�� �������� ��
�� �
 ���$
��������# N
� ���� 	��� ���� ���� .�"������������ �����%�� &�����# 2� �6��� ���
.�"������������ ����� 4������������������' ����� �%������� ;���� ��� 7��� ������
��� �
 ������������ ��6=� �����# ?� 	6���� �
%� �%����� 5
	�
������� 9����
 �
�
� ����������%����
� ��� 7��������������� ����  ������� &�����#

��� 0����"� �
� .��������
� ����� ����� �������� ��� ��%� �� ��� 4�����$
������������� ��� ��� 7�"���������
� ��� !�""��$�D1$?������� ��&
���# 7�
������ 	��"�	��� 9�
&���� &��� ��� ����� -!$�D1 ���� ��%���� ���� C!$�D1
������� L,)' ,,M#

��� ��=(@A

J��� ��� .
����
����������' ��� �� ��� -!$�D1 �� ����%�� ��� Q� �# 4����$
�
� G#-R 
�� �
� ��&� H(◦K ������� &���'  ���� �� .
����
������ �
�%� ���
������ �� ��� -!$�D1# !��� &��� ��� ����� ��� �� 0�"���� C#- ���%��������� ��%��$
������ 
�� ����� �� �����%��� 8
���
"������� ��� ?����� ��� 	����� 4����� "��$
�
�����#

��� ��� ���� 1����	�"� ��� -!$�D1 �������� <�&���� �
� ����� 0��������$
�� �
� ���������%��� ����� ��� ��� 9����&���� f = −2, 4 �� �� ����� !����$
���� ��&�� ����� "���	����E�� ����� Qf = 92 ��R' ��� �� ����� 4
���=�� ���
��%���%	� �� >
 �� ��� -!$�D1 �� �"���� &
���# !�� �
� ����� ����� 	��"�	�
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�
� ���
��� 1����	�"� ����
 �� ����� ?����� ����"���%��� ����' ��� ��%� �����
λ/4$����6 ��
� �"�
��%��� ���	
��� "���������� ���# !����� ��;���� ��%� �&��%���
�����	�""��� 
�� ��� ������ �����#

!�� 8
���
"������ &��� �
�%� ���� ?"
���  �������� 
�� ��� ����� �� �������$
 ��������� �� �&�� .�
���%��
� �� ��� <� +C') �A%� ��� ����� ?"
�������� ���
-'- 4# !�� ?"
��� &����� �
�%� ���� ����� � 4����
��
� ��� ���&������� ?����$
������ 
� ��  ��%������ ��� 1/e$���$ ��&# 4
��%���������� ��� -H ��&# +( ��#

��� &������� ��%������' ��� ���
���������� �
����$��%�� Q� �# 0�"���� C#-R' &���
�� .�%��
� ��� 4���������� ��� �������� 
�� ��� � ��� ���� �
�
����%�� 9��%���
$
�� 
� ��� 4���� �� .�%��
� ��� C!$�D1# !����  ��������� ��� 	������ ���$
	�� �&��%��� 4��������� 
�� �
����$��%��������' ���� ��� 4���� �� ��� C!$�D1
��%�� �
�%� ��� �
����$��%�� �
� ��� ����� �������� &�����# !����� ������ "���������$
�� ��%������ ���
��� ���� ��%� ����� 	������������ �����	�""���� �
� 0����������#
7�� ����� ��� � ��� �
����$��%������ ��� ���� �����""�
� ��� �������� ��
����
�
� ��� -!$�D1 �� ��� C!$�D1#

7� ����� ���%��� -!$�D1$0����"� &��� ���� ���%�&���� 	��� ��� 4���� ���
-( �A� �����%�� 
�� ��� �������� ��
�� ��� +(10 ��A� ����
 �# 9���� ��� 4����
�� ��� C!$�D1$0�����  ���� ��' �
�%�5�� �� ��� ���� ��@���������� �
�"��
��'
��� ���� _@�
� ��� ����� !
�%������� ��� G �� 
�� ����� �
� � ��� -( ��
�������# !��
�%� &��� ��� ���&���� � ���� ���������
%	 ��� .
����
�� �
� ���
-!$�D1$?����  ��������� 
��  ���%������ ��� �6 ��%��� ������ � !�
%	 �
� ���
C!$�D1$ ��&# ��� 7������������������� ��%��� �������#

��� !�=(@A

!�� ��%�������� ��� C!$�D1 ����' &�� �� 4�����
� G#- ��� ������� ���' �� ���
O++(P$0��; 
������ ����������# !�� ��������������� 1����	�"� �������� �
� �����
0���������� �
� ����� ����� ��� 9����&���� f = −6 �� 
�� ����� ����� ���
f = 50 ��# !��
�%� &��� ��� ��%������ �
� �
� ,( �� 	��������� 
�� �����%�� �����
1/e2$!
�%������� ��� -- ��# ��� ����� λ/4$����6 ��
� �"�
��%���' &��%��� ���
��� ������ ����� �� ����%�� ���' &��� ���� ��������� ���� ���	
���� ������������ ���
��%������� ��� �������#

��� ����� ?"
���"���' ��� �� �����	���� .�%��
� ���������� ���' &��� ��� ��$
 ������� ������� ��� -( �A%� ��� ����� ?"
�������� ��� H 4 ����������# !�� ?"
$
���"��� &��� �
�%� ?����$?����$.�����  ��%������' &�� �
 ����� 	
���� 1/e$���$
��&# 4
��%���������� ��� ('+ ��&# + �� �����# !�� 4��%�������� &��� ����� �
�%�
���
������ ?��6�� �� ��� 4�
����
�	����� ��� C!$�D1 ���������#

��� ��� �
� ����� ����� ������������ !�""��$�D1$0����"� �� ��� ��%� ��� ��
4�����
� G#C ��� �������� ������������� ��� C!$�D1# !�� �E"���������� ����$

�*����� �50@/�.34/5
M.4?�F/?. ��� 0��"
 "�	())���!*
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� =�$� 8���*
�1� ��
��
��� $�,@>��� :7� ��� +
��� ����
��� ������� &����
���������

��

��������� �
��� ��%� ��� ��� �
�	����

N3D(t) =
R

λ3D
(1 − e−λ3Dt) QG#+R

���%�������' &���� R ��� �������� �� ��� C!$�D1$���
��� 
�� λ3D ��� ��������
>���	�������� ��� ����"�������� ����"��%��# ��� ��� ��� �������� ����
� &��� ����
�������� ��� R W C')·109 ��A� �����%��#

7�  ��
��� ��� >
����� &����� 1, 9 · 1010 4���� �� ��� C!$�D1  ���� ��# ���
��� 7�������������� ���� �������� � &�� ���� ��&
��� �6 ��%��� 	
��� ����������
&�%��� # ?� &����� ����"����&���� ��%� -(( �� ��&# ��%� + � ��&� 1 · 109 ��&#
3, 8 · 109 4����  ���� ��# !��  ���� ���� 4���� &����� ���%����=��� ��� ��� ��
��%���� ����� 4��%����� ���%��������� ?������� �� �� ��� 7��������������	�����
���%���
�� �#

$���� ��� �����!
���
�

>��� ��� ?������� �� � ��� ��' ����  ��=� >��� �� 4����� ��� ����� ������ 1��"�$
���
� �� ����� ���	�  ���� �� 4
�����
� �� ��� 7��������������	����� "�
����
�
 ���%���
�� ��# ���� 1���%��������� ������ ��� ��� .�
�%��� &
����� ��� !�$
��	����' &�� �� 0�"���� G#C 
�����
%�� &���# 1���� 1��"����
��� ����' &�� �������
�� 0�"���� -#+#-  �������� &
���' ���&���� ' 
� ���� �6 ��%��� ���� �S����� ���
?���������
� �"�������� 
�� ���
�%� ����� ����� ?� ���	������� �
 ��������# ���$
���������@�	�� &����� �
��� ��������� ���� ����	� 1��"����
����
� � 	��� �
�'
&�� �� 4��%����� G#G#G 
�����
%�� &���# ���� 	����� ���	�� �6=� ��� �����%����%�
��� ?���������
� �"�������� Q� �# 0�"���� -#+#-R ��&�� ��� ��� !���	���� Q� �# 0�"�$
��� G#CR ��� �������# !�� .��������
� ��� "�
����� 1��<�	������ ��� ��� 9���
�
� '
�� ����%��������� ��� ?������� �� � ��
	�
������� ��� �

���%��� 7����������$
��� �������� �
� ��� � �����' &�� �� 4��%����� G#-#G ���%������� &���# !�� ��
	$
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�
������� ��� 1��<�	����� ������ �
��� �� 0���������� ��� &������� �@�	��� �

����� ��������
�%��� ��� 7��������������' &�� &����� 
���� ���%������� &���#

!�� ������%�� 4���
� ��� ?������� �� � ��� 4���� ��� �� 4�����
� G#G ���
�$
������# N�%� ����� �
����%������ ��������' &���� ���� !�
�� �&��%��� H( �� 
�� - �
���&����� &���' &����� ��� �� �����%��� ������ ��&�� ��� ��%�������� ��� -!$�D1
�
� ��%������# 7� ��� ��%���� ����� 4�	��� ���� ��� -!$�D1$�� ��������� &���
��� ��������
� ��� C!$�D1$0�����%��� ��� 15, 2 ��� ���� ��%� ��� 0�������$
 �� � �� ��� ����"���� ��� ++ �� ������� C!$�D1$����� ������ Q� �# 0�"���� C#-#GR
�
� +C:'- ��� ��� �6=���' 
� ����� ��
�	���� 0����@�	� �
 �����%���#

��� ��� ��%���� ���� 9��%���
�� 
� &��� �
�
%��� ��� ��������
� �
� �����
���� ��� +H'- ���  �������' &���� ��� C!$�D1$0�������� ���� !�
�� ��� + ��
��� ��

�� &���' 
� ��� ��
� ���3
��� �
 �����%���# !
�%� ����� ��������
� 
���� ��� ?���
���� &����� ���6�� &�����' 
� ���� �S������ 9��%���
�� 
� �
  �$
&
���������# 9�� ��� 9��%���
�� 
� ���� �� ' ��� ���� !�
�� ��� - �� ���' &���
���
� � ��� ��� �D1$?�����"������� Q<R �
�
����%� ����  ���� � ��������
� 
δD,j
3D ���� ��� ���� 4D�� ��� C!$�D1$��%�������� ��� �������' 
� &�������� �� ���
��&� ��� 9��
 ������� 	����� �
 	6����#

4��%����=��� ��� � ��� ����� ��� �������$0���
� �� ��&� ��� 9��
 �������#

&�����

� =�=� '���������� ��� ��� ��������� &���
� ��� 8���������

� 

� ��� @��
��,
������ ��� ��
���
�
 ?����
�
��
 �� ��� 8���1����
� ������������ H������ ��
� ���
�������
 ��������

� ����
 ��� �����
 &����
 
���� �*������� ;�������
 ��� ��� ���������
/����
� ��� /�������

� ��� $�,@>�,?7��������� ����������� ����� γ = Γ/2π ����
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������� &��� ��� �� ������� ��� C!$�D1 �
� ������� 
�� ���  ������ �������$
�
� ��� ��� ����� �
� ����� ���� ��� +C:'- ��� ���������# >��� ���%� &��� ��
������ +'G �� ����
������ ����� ��� �����
� ��� 0�����%�������� ���� ��� ����"��$
%������ 4D�� �
� ��%������# �� ����� �6 ��%��� ���������%��� �����
� �������
�
  ����������' ��� �
 ����� �S��������� 0������ �� ����� L,:M' ��� <�&���� ���
1���"��� ��� ��� ���� 4D�$�����
������ �����
�	��� �� ����%��#

4
� ����� ����� &����� ���
� � ��� ��� �������� ���� � 108 4���� �� �����
���	� ��� ����� .���
� ��� σ1/

√
e W C': �� 
�� ����� 1��"����
� ��� : μ0

�� ��� 7��������������	�����  ��%������# �� ���� ������� ��� ?%������"
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Q��R ��������� ����� �����9 ������� &��� �
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� ����3
��� ���� �������$
�� 0���������� ��� ?�������������%��������  �&
��� &�����' &���� ��� ���&���� �
��%������ ��� ��� 7�������������� ������ ������� ���#

7� ��� �
� ����� ����� ������������ ?�����������	��; 
������ 	6���� �
� �������
4����������������� �� ��� �>$ ��&# ��� ?.9$��������� 
� ������ &�����# ����
�>$0��; 
������ &��� �
�%� ��� ������%�� �
���� ����� ��� ?�������������%��������
����������# 4
� ����� ����� 	��� �� <���� ��� ���� 4""��	����������� <�&���� ���
�>$��������� 
� ������ &�����# ���
� ���� �>$0��; 
������' ��� ��%� ����
���� ���� 4""��	����������� ������%	�' ��%�� ���&��	��%�� &
���' &��� �� 4��%�����
�
� 9��%�����
� ��� �������������6�
� �� G#G#G  �	�
��# !�� ?.9$0��; 
������
	��� �������  ���%��� ������� �� <���� 4""��	���������� ���������� &�����# !��
?�������"������������ Q� �# 0�"���� -#-#-R ��� �� ������ 4����� 
�����
%���� ?.9$
��������� &��� �
�%� ��� 4""��	����� ��� <�&���� �&�� �
���� �� ��� ������ 

=�$
��� >���� ���&��	��%��# !���� 0��; 
������ ������ ��� 7�������������	��; 
������
��� ��� ��E���� ������������ 4
56�
� ��� Q� �# 0�"���� -#-#-R#

��� ���� ��@���������� ����
� ��� �&��  � ���

; �� 7�������������	��; 
$
�������� ��� �� ����� ���%��� .��������
� ��� ?�������������%�������� ��� ����� �

���%����/ 4
� �
�� ��� 
�����%������%��� ���%�&���� 	������%��
� �� ��� 4����
±�vat �� ��� ������ 7�������������� 
����� ��%� �
%� ��� ������%��� ��� !�""���$
����%����
� ��� .�������# !�� ����
���' ���� ����� 7������������� ���  ���%��
������%��� ��� .��������"���� ��������' &��� ��%� ����%�
� -#,+ ����"��%����
ΦΩ(�vat, �keff) = ΦΩ(−�vat,−�keff )  ���# ��� �� 0�"���� -#-#C ��� ������� &
���' 	���
��� .��������"���� ���� �
� ��� ?
������ ��� ��� ������ 7������������� �E���$
����� &�����# !� ��� 9��%���
�� 
� ��� � �� ��%�� ��� ��� �������� ���%�&��$
�� 	������%��
� ���
� �' 	��� ���� ��� 9��%���
�� 
� �"���� �
� ��� !�@�����$
�� ��� �������� &�����' �� ��%� ����%�
� -#,- Φa(�keff) = −Φa(−�keff )  ���#

�	
 (	�������� ��� 3��������'������	''��

!���� ��� ��%������ �� ��� �� ������������ ?�����������	��; 
������  ������ ��� J���$
 �� �&��%��� ��� ������ �� �����%� ������������ 7��������������
��
���� |1〉 
��
|2〉 ������� 	���' &��� �
� 4
����
� ��� ������
� ��� ������ ��"������$N����
�
��� ���� ���� �� ������� ���6�� �# !����� ���� ����"��%�� ����� ���  ���%���
����' ��� &
����� ��� ��
"������� ��&�� ��� !���	���� ���&����� &���# !�� ��
.�%��
� ��� ?�������������%�������� �����
����� ���� &��� ������� ����� ?"
���"��$
���  ��������' ��� ���  ������ 7��������������	����� 5��	����# ��� 1/e$���$ ��&#
4
��%���������� ��� + ��&# H �� &��� ��� ���� ��� ����� ?�
�	� ��� G(( ��A4
��� ����� ��"��%��� ?���� ��� +'H 4 ��� ��� ��
"������� ��� ��%������ 
�� ����
��%� ��� !���	���� �
� �������# �� &��� ����� �
�%� ��� ����� �� ?%������ ���
?���������� 
�  ����
���#
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!�� ���� ����
� ��� �� ��������� ��� ���  ��=�� 9���
�
� ��� ��� 7������$
��������' �� �� ������� ��������� �
 ����������%����
� �� ��� 7�������������$
�� ���� ������' &�� �� 4��%����� G#G#C 
�����
%�� &���# ��� ���������� !��� �'
�
������%� �"������� ��� ����� ��� ������$��������$�������' ��� � ��� ���� �6 $
��%��� ���� ��� 4
�����
� ��� ������# ������� !������ �
� !��� � 	6���� �� ���
4����� LC*M ��%� ������ &�����#

5�	�	�����
���
�� ��
 ���	������
��
&����

�


�E"���������� &��� ��� �
� � ����� ?�����������$π/2$ ��&# $π$�
���� ���� ��� 4
�$
������ ��� .���$D������������ ��������# �����
 &��� ��%� ��� ��
"������� ���
?�����������"
�� �""������� 
�� ��� ?� ��� ��� �
�	���� ��� !�
�� ������ �
����
�������# 4�����
� G#+- ��� � ��� �� ����������' �E��"�����%� �� ��� ������ 4""��$
	���������� �
� ��������� .���$D������������#

&�����

� =��!� 06������
���� �
���
����
� ����,>���������
�
� 	
� 	����

*� ���
;���������*

� ����
� ���� ��� ������� 0
������ �� 	�
��
� ��� �����
 &����*����
�,
��
��

!�� !�
�� ��� π/2$�
���� ��� � �� ������ ���� ��� τπ/2 W : μ�' &
����� ��� ��$
E����� 4��� 
� �&����%������%�	��� ('GH ����"��%��# 4��
� � �����' �� &��%��
��� ���� >���� 
�� �� &��%��� D�� �� ��� ����"��%������ >��� ��� ?�����������$
"
�� �""������� &���' �� ���� ��%� π/2$�
����
��� �&��%��� H 
�� -( μ�# 1�"��%��
��E��� ��� 4��� 
� �&����%������%�	��� ��� �� ����� �&��%��� ('C 
�� ('HH#

N�%� ��� ����� ��� 9��%�����
� ��� ?���������
� �"�������� ������ �
� ��� ?�6$
�
� �� 
�����
%�� &�����' ��� &
����� ��� 7�������������� �
�%� ��� ��%������ �
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����� .�
�%��� ���� �
 ����� 	��������� ����������%����
� ��� 7�������������$
�� ���� ������#

$�$�� ��� 8������ ��� ,�������!���&����
� ��	 �����
����
����
 ��� �
������
	�����

!
�%� ��� ������$��%	$0���� ��� ��� ������������
� �
� �� ����� �������$
��� D��' �� ��� ��� ?%�&��
� ��� ��� ����	����� &���' &��� ��;�����# !
�%� ����
 ��������� ����
� ��� ������ ��%�������� ��� ��� �
� ��%����&��	
� ����� ���$
��� ��
	�
������� ��� ��%��&� �� ���� ��%� �
 ����� ������5
	�
����� �� 9����%�
��� �������
� �� ��� ?%�&��
� # N�%� ��� �� 4��%����� G#G#+ ���%��������� .��$
������
� ��� ?�����������	��; 
������ ���6�� � ��� ��%	��5�	������ ��%������ ���
?���������
� ���%�������� �&�� ��

; ���� �
� ��� >��� td' 
� ��� ��� ?��������$
�
� �"������ �� ��� D�� ��� 4���� �
  ���� ��# !���� !��	��"��� �� ��� ������
��
�&� �� ����� �
 ����� 4		
�
������ ��� ��������
�%���� ��� ����� &
�����
��� >��� td 
�� ��� ����� ����%�� ��� ���� �
�
����%�� ������
���%������� ��� 7�$
�������������� ����# 7� 4�����
� �� ��� 9��%�����
� �� L:+M &��� ������ 9����� 
�� ��� ����� 
�����
%��#

�	
 (�����

!�� �
�%� ��� ��%��&� ����6 ��
� ���
��������� ��������@����� ��� ��%��������
	��� ���%������� &����� �
�%�

φ0(t) = ϕL1(t) − ϕL2(t− td) = ϕL1(t) − ϕL1(t− td) + ωL(t− td) , QG#+-R

&���� td = 2L/c ≈ +'C �� �� ��� ��� ��������� 7��������������
���
 �
���
� �&��$
�� ��� ���� ���� 4""��	�����������  ���%� ��� 
�� L ��� �� �&��%��� 4����� 
��
?"�� �� ���%������# !�� �&���� 1��� ��� ����%�
� �� ��� ��%� 
���� ��� ����
����$
�
� ����� ������� ������$��%	$.� ��	������# ��������� &��� ��� ���3
�����@�����
��� ������ ����� ωL ��� ����� ������ �� ������' &��
�%� ������ 9����� �� ��� ���$
�������%����
� ��%� ����%�
� -#HC ����%�&�����#

��� ����%�
� G#+- 	��� ����� ��� ��������@����� ��%� ����%�
� -#,, �
�%�

δΦd =

∫ ∞

−∞
dt g(t)

[
dϕL1(t)

dt
− dϕL1(t− td)

dt

]

=

∫ ∞

−∞
dt [g(t) − g(t+ td)]

dϕL1(t)

dt

=

∫ ∞

−∞
dt [g(t) − g(t+ td)] νL1(t) QG#+CR


� ��%������� &�����# ������� &
��� ��� >�������%����
� �� ��� ?���������
��$
�
�	���� �
� ��� ���# !�� 9��%�����
� �� 0�"���� -#C#- ����"��%���� 	��� ��� �
�
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����%�
� G#+C ���
��������� 1��������
�	���� ���%������� &����� �
�%�

Hd(ω, td) = −ie−iωtd/2tdHφ(ω)
���
(

ωtd
2

)
ωtd
2

. QG#+GR

�� �� ��� 1���"������������� ��� Hφ(ω) ���� ���� ��%� ���3
����� 
�������� ���
C �9$���3
��� f0 ��� 7��������# !� �
� f0td 	 1 ���' 	��� Hd(ω, td)  ��
����
&����� 
�� �� ��� �

|Hd(ω, td)| ≈ td|Hφ(ω)| . QG#+HR

?%����=��%� �� ��� ��%� �
�%� ��� ��������� ��� Hd(ω) �� ����%�
� -#:* ��� �
�%�
��� �@�	� ��� ��%������6 ��
� ���
��������� ������
���%�������

σ2
d =

∫ ∞

0

dω |Hd(ω)|2SνL1
(ω)

= 4

∫ ∞

0

dω ���2

(
ωtd
2

) |Hφ(ω)|2
ω2

SνL1
(ω) . QG#+)R

������� ����"��%�� SνL1
(ω) ��� �"�	������ �����
� ���%��� ��� ���3
�����
�%����

��� .����$������������# ��� ��� ����  ���%���� N
���
� �� ��� ��%� ����� 
���
 ��� ������
���%�������

σ2
d ≈ t2d

∫ ∞

0

dω |Hφ(ω)|2SνL1
(ω) . QG#+,R

!����� 9����� �
� ��������
�%��� �	������ ���� ������ ��� ��� ��
����� td#
���� ��� �"�	����� ���3
�����
�%��� ��
"��
%���%� �
�%� &��=�� ���3
�����
$

�%��� ���������'  ��� ���� SνL1
(ω) ≈ S0

νL1
' �� 	��� ��� ������
���%������� &�����

 ��
���� &�����# ����%�
� G#+, ��������%�� ��%� ���
�%� 
���� 9���%	��%��� 
� 
��� ?�������"�������� ��� 
�����
%���� ?.9$0��; 
������ �


σ2
d ≈ π2t2d

4τπ/2
S0

νL1
. QG#+:R

��� +,
��1��
��

N�%� ��� �� ��� 4����� LGHM ����� ��� K����	��������
� ��� .����$������������
�� ��� ��%� ���� ������������ ��� ��� .����$����������� ��� ΔνFWHM,L1 W +-'H 	��#
����� ���&���
� ��� .������� LG:M

ΔνFWHM,L1 = πS0
νL1

QG#+*R

��� � ����
� ��� &��=�� ���3
�����
�%��� ��� G·103 ��2A��# N�%� ����%�
� G#+:
����%���� ��%� �����
� ��� �
�%� ��� ��
���������6 ��
� ����� ��� 9����� ���
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5��������

7�������������"�������
�%���� "�� ?%�
�� �
 σd = 42 μ���# ��� ��� ����%�������
��� ����� ?�	
��� ��� � ��� ����� >�	�
����� ��� C'-) � ��� ���� ���

σd = 76 μ��� . QG#-(R

!�� ��%� ����
� �� ����� ��������
� ��� 7�������������� ����� �
 ����� 4
56�
� 
��� 3, 2 · 10−9 ���A�

√
��' &�� �����  ���� �� .�
�%������� ��� 7���������������$

 ���� ���������# 9����%���� ��� �������� � �� ������ �������������������%�� �E$
"��������' ��� �
� ������
%�
� ��� B3
�������"�����"� �� ���%�� ���� L-+' --M

�� ��� ����� ��%� ��� ��%��&� ����6 ��
� �
� �������� ������ ���� �� �� 0�$
�������� ��
�����%	� L �� ���' ��� � &� �� σd ∝ L ���� �������%�� ���6�
� ������
.�
�%������� �#

$�$� ��� -�
%��� !���
��������� '��
�������� ��� ��� ����
��
!�������"�
� ��� �
������
	�������
���

9�&
��� &
���� <�&���� ��� �� �����%� ������������ ��"�������
�
��� ��� mF W (
��� 7��������������
��
���  �&
���' 
� �� �����%� ����� �� ��������
� �� ���
J��� �� ����3
��� �� ��� ��%����&��	
� ������' ���%������� �
�%� ��� >�����$
�@�	�' �� ������ D���
� �
 ��������� 
�� ����� ���� 	�������� ����������%���$
�
� ��� 7��������������� ���� �
 
�������%	��# 9��%������� �
�%� ��� 3
����$
���%��� >�����$�@�	�' 	���� �� �������� � �����%� �
 ����� ����%����
� ���
mF W ( $ ���� �������
� 
�� ����� �
� ����%����
� ��� J��� �� ����3
���#
�� �� ��� ���������%��� N��
� ��� 7�������������� &���� ��%� ����%�
� -#HC
���� 	�������� ���3
�������%����
� ��%�� ������� &�����# !���� 	��� �
� ��� ���$

������%��� �� �������' �� ������ �������� ���� �� ��� >���' �
 ����� ?�6�
� ���
7��������������� ���� ������# !���� ��� �
 ��&�����' ���� ��� ��������� 9����� 
�
� �
�� ��� ���� �����%������ ?.9$0��; 
������ �
�%� ����� �������� �� ���
���"� ��������%��
� ��� 4���� ���
���%�� &���# !����� 9����� &��� �� ��� ��$
��� 
�����
%��' &���� ���� �����
� ���
��������� ������
���%������� �� ��%�
���
&���# !���� �� ��� ��%� �
� ��� ��� �� ������� ��������� ���
� � �� ���������$
�%����
� �� 0���������� ��� ��� ?����
���%������� ��� 8
����#

8�9 ;�	
��.��
����,
�� ,������ �
��� (	����������	�������

�	
 (�����

���� ���3
�������%����
� ��� 7����������������� �� � ���
���%�� �
�%� ��� 3
�$
������%��� >�����$�@�	� 
�� �� 4��
� � 	��� ��� ��� ���"� ��������%��
� ���
4���� �
��� ��%� ���%������� �
�%� LG,' :-M

ΔqZ(x) = 2π ·KB2(x) QG#-+R
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��� 0 W H,H ��A�2# !�� �� ������� B(x) 	���  ��
���� &����� ��� ��� 	���������
���� B0' ��� �� ��� �������� ��� ������ 4""��	����������� ��� ?.9$0��; 
������
�&�� ������� �� ������� ��������� ������ ��� ����' �� ����

B(x) = B0 +

[
θ(1)

(
∂B(x)

∂x

)(1)

+ θ(2)

(
∂B(x)

∂x

)(2)
]
· x QG#--R

 ���# ��� ��� ��������� θ(i)  ��� θ(i) = 1 ��� x �� i$��� ?����������������%�' ������$
�����  ��� θ(i) = 0# �� ���� ����� ����������' ��� �%����=��%� �
 ����� ����������%���$
�
� ��� 7��������������� ���� ������' ��� ��� ������ 4����� 
�� ��� ���&���
� 
��� ����%�
� -#,, ��%� ���������� �
��� �
�%�

ΔΦqZ =

∫
dt g(t)ΔqZ(x)

= 4πKvxB0

∫
dt g(t)t

[
θ(1)

(
∂B(x)

∂x

)(1)

+ θ(2)

(
∂B(x)

∂x

)(2)
]

= 2πKvxB0T
2

[(
∂B(x)

∂x

)(1)

+

(
∂B(x)

∂x

)(2)
]
. QG#-CR

>
� 9���%��
� ��� ����������%����
� �
�� ����� ��� �� ������� ������� ��$
������� &�����' &�� �� ��� ��� ����� ����
� ���%������� &���#

��� (�


��

�� ��� ������ �� ������� ��������� �E"���������� �
 ���������' &
��� �� 
�$
����%������%��� ���������� �� ��� 

=���� 4""��	����������� ��� .����������3
���
���������# �� ���� �6���� ��";����%�	��� �
� �� ��������� �
 ��������' &
���
������� ��%�� ��� 7����������������� ��  �&
���' ������� ��� .����$J��� �� 
�&��%��� ��� ������mF W +1$>�����$N����
� ��� 52S1/2$��"�����������
�  �����$
���# 4�����
� G#+C ��� � ��� ��������� ��������
� ��� .������� ��� �
�	����
��� �������� �� ��� ������ 4""��	�����������# 4
� ����� �������� ��� ��� !����$
"
�	�� �� ��� ��%� ��� ���3
��� ������� ��� GH) ��A�� ��&# −882 ��A��# �����
���&���
� ��� 9����$.���$������ L:-M 	��� �
� ��� ���3
��� ��������� ��� ��$
 ������� ������� ���−0, 325 ��A�� ��&# (')-* ��A�� ����%���� &�����' &����
��� ��� 	�������� ���� B0 W )(( �� ��� ������ &����� ���#

?%����=��%� ��� � ��� ����%�
� G#-C 
�� ��� ��� �����%����� ?.9$0��; 
������
���� ����������%����
� ���

ΔΦqZ = 66 ���� . QG#-GR

���� �6 ��%�� ��������%	
� ��� �
� ����� ����� ������������ ����������%���$
�
� �� ����� ��@����������� ����
� &��� �� 4��%����� G#) ���	
�����#
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� ��� ����
�
����G
�
� ��� ���
������ ��
����1�
 mF ,
5�����
�� ��� :

*���
 ��� 4������
 �
 ��
 �����
 �
K���
 &����*����
���
�
 ��� ��,

����� :��,:

*���
� H������ �
��� ��� /����
� 2��
*�3 �
 ��� ��� +�
�
������,4
���
�
����
���
 &����*����
���
� 1�������
� ��� /����
� 2������3 �
�������� ��� ����
7���,
�����
��
 	�
�� 	
� -��������

� ��� @�������
�� ���� �
� &����
��� =�!�$ 1�������
�

8��9 (	����������	�����,������� ;�	
��
�
��������� 	' 3��������'����

!�� �
� ��� ?������� �� ���
��������� ����%������� ��� �������� ���%�&���� $
	��� ����� �
 ����� ��� ����� 7���������	�
� �
� �
%����� ������������ ��������
��� 4���� �� ��� ������ 4""��	�����������# ?� ���� ��� 4���� ����� � �
�%� ���
���������� ����� ����� 
�����%������%��� �� ������� �
� ������' &��
�%� �� �

����� ����%������� �� ��� ����������%����
� ��%� ��� ��� �� �������
� 	����#
��� ����� ����%������� ��� ���%�&���� 	��� ��� σvx W :·10−4 �A� �� 0����������
��� ��� �E����������� �� ������� ��������� &��� ��� ��������
�%��� ���

σqZ =

∣∣∣∣∣2πKB0T
2

[(
∂B(x)

∂x

)(1)

+

(
∂B(x)

∂x

)(2)
]∣∣∣∣∣ · σvx

= 20 μ��� QG#-HR

�� ��%�
���# ��� ���� ?�	
��� �� ��� ��%� �����
� ��� 9����� ��� C) μ��� ��� �����
>�	�
����� ��� C'-) �# !�� �����
� ���
��������� ��������
� ��� 4
56�
� �� ���
��%� �
 1, 5 · 10−9 ���A�

√
��#

�� ��� ������
��� �� 9��� ��� �
�%� ���
������%�� �� ��������� ����� ���
������
���%��������� �
 ��������' ������� &�������� ��� ������%��� ��
	�
�������
��� �� ��������� ���������� &�����# ���� ������� � ������
%�
� &
��� �������� �
��%� ��%�� �
�%� ������#
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��� ��%� ��
�&�� ��������� �@�	�� 
����������' ��� ���%��
��%� &�� ��� � ��� ������� &�����
	6����/

Q�R !�� ����� �����%��� 1��"����
� ����"��%����� ���%�&���� 	�����������
� 
����� � �
�%� ���� �6 ��%�� ���	�""
� ��� ?�������������%�������� ��� ����� 4""��$
	���������� �
� �
%����� ���� 
�����%������%�� 4
�"�
 
� ��� ��%��"���� �
� ���
��������� 4����' &�� �� 4�����
� G#+G Q���	�R ������%��
��%�� &���# 7����� ���$
�
��� ��� �keff $��	���� �����
�	�� ������ �@�	� �
�
����%�# !�� ���	�""
� ��&��
��� 7����� ����
��� ��� �keff &����� �
�%� ��� �"���%��� �������� ��� ��%	��$
5�	������� 1���� ��� ?�������������%��������' ���� ��� ������� ��� ��	

�	�����'
��� λ/4$����6 ��
� �"�
��%���' ��� ?"�� �� ��&�� �
�%� ��"����	�� 2
��� � ���$

���%��# ��� �� �����	�"���� G#C ���%������� ���' &��� ��� ��� !���	���� ���� ���
?� ���� ��� ����������$4�����������������  ��������# !� <���� ������ ����������$
4����������������� �
�%� ��� ���%��������� ?�6�
� �� ���� 
�����%������%�� ���$
�� �
�&����' ��� ���� ��� ��� 7��������������� ��� �&�� �������%�� 4
�&��	
� ��/
>
� ����� &��� �����
�%� ��� 0��
���� ���  ������� 4������������������ ����	
���
����� 
�� 	��� �� �� ������
��� ��������  ����# >
� ������� ���
������ �
�
��� ������
� ���� ��� 
�����%������%��� ������ ���� &�������������
� � � ���$
�������%����
� ��� 7��������������� ����#

&�����

� =��=� 2��
*�3 +
 ��� �� 06������
� 1�����*������
 '�-,?�
B�
�����
 1�������
�
� ���� &����*����
���
�
 *������ ��� ����� &���,8����,;���������*

� ��� ��*��� ����,
��
� �7� ��� ;����
���
��
� :7� ��
 ������
 π/2,4
�� ������ ��� '�������������������� �
���
��� ���
������ &����*����
���
� �
 ���
�� �����

� 
���� 1�
 ��� ������
� ��� ?���� ��
������ �
 ��
�� /��*���

� �
 ��� ������
 &����*����
���
� ���7����� ��� �����
 �� ���,
��
 �
��� ��� ����
� �����
��
 4
��� ����
 ��� 

��������������
 (������
���*��� ���
&���� 

�������������� 4����
 �
��������� 2������3 ��
����� ������
� +
������
�����

�
 keff �����*�
 �
 ?����
����
 ��� ��� .
����


���������� ��
� 1�
 '��
�� �
 '��
��
1�������
�� &
�����

� ��� 8��������������

Q��R �� �� ��� �� 4��%����� G#-#G ���	
������� ����%������� ��� 8
���� ����
?������� �� ����� ��� 4���� �
� >���"
�	� ��� ��%������""��	����� ��� �����
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7���������������	�
� �
� �
%����� ����� ���� 
�����%������%�� ��������' &�� �� 4�$
����
� G#+G Q��%���R ���
������� ���# !�� ������� ��&
����� 7����� ����
��� ������
�
 ����� �

���%� ���
� � �� ����;	����� ��� ����� ��� 4���� �
�%� ��� ��%��$
����# !�� ����
� ���
��������� ��������� ��� 7�������������"���� ��� ?%�
�� �

?%�
�� ����"��%�� ����� ����� �
�%� ��� ����������������� ���
���%���� .�
�%�$
"������#

!�� ��6����� ���5
�� ��� ������������������ ������� � ���� &�� 	��� �������
�@�	� �� ��  ��=�� ��=� ��� 
�����%������%����� ����%��������� ��� ?%����������$
������ ��� ?������# 7� ��� ����� &����� ����� 4�"�	�� ��� �����������"�����$
����	 ���	
�����#

8�9 �
��� "���������������� ,������� �����1���� 
�� ;�	
��.��
����=
,
�� 	' 3��������'����

�E��"�����%� &��� ��� ��� ?.9$0��; 
������ ��� ������ �
� 9��%�����
� ���
������������������ �
� ��� 7�������������"���� ��� �������' �� ��� ��%���� �����
����
� �� ��� ������ 7������������� �������� �
�%� ������ &����� ����#

�	
 (�����

!�� �
�%� ��� ���� ?�������������%�������� �
� �"�
 �� &�������������
� � � �����
	��� ����� �
� 9����%��
� �� 0�"���� -#-#+ �
�%�

ΦWF (�r) = φ(�r1) − φ(�r2) − φ(�r3) + φ(�r4) QG#-)R

���%������� &�����# !�� ������������
� � 	��� ��� ���� �����������
 � φ(i)(ri)
&��� �
�%� ��� �������� 1��<�	������ ���� ��� �#

�� �
� ��� 7�"����	������ ��� �"���%��� ��������� 
�� 2
��� � �
 ���%����$
���' 	��� φ(i)(ri) ��� ���� ?
��� ��� >����	�$���������' ���� �� � ���� �� ��$
���	����������' ���%������� &����� �
�%�

φ(i)(ri) = φ(i)(ρi, θi) = keff

nmax∑
n=0

�n�n(ρi, θi) QG#-,R

��� ��� >����	�$0��S������� �n 
�� ��� ��������� �n(ρi, θi)# !�� 1���� ���
?
��� ���%�������' ���
� � ��� ����� D���
� ' ����	� 4����������� ��� �"$
���%��� ?������' &�� ����"����&���� ���� ���	�""
� ' ����� !���	
� ���� �����
4��� ������
�#

��� ��� 4�&���
� ��� �������� �����	�" ���� �

���%� ��"����� ?��������$
�������� ���&���� # !� �� ��� ���� ��� ��������� 7������������� ��� ���������
� 
��� ?�������������%�������� �
%� �� 
�����%������%��� �"���%��� >
 
� �� ��� 7����$
����������	����� ����� �' 	��� �� ������ N
���
� ���� ��%� ��� ����� ���	�""
� 
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��� ������������� ������� �
 <�&���� ����� ��� ������� ?�������������%�������� �
� �$
 �� �� &�����# �6���� D���
� �� &����� ���
�%� �����%��
��� �# !��
�%� �� ���
��%� �
� ����%�
� G#-, ��� 4����� ��� ��� ������������ 

φ(i)(ri) = keff(x���(αx) + z���(αz)) , QG#-:R

��� �� 	������%��� 0���������� �� � ���� ���# N
� 	��� ��� �����%������%�	���'
��� 4��� �� �� ��� ��� >
����� �
 ;����' ��� ��� ?.9$0��; 
������ ��%� ����$
%�
� -#C, ��&������ &����� �
/

P SRB
2 =

1

2

(
1 − 1

2
%��(Φ(t) + ΦWF (�r) + ε(�r))

)
. QG#-*R

7� ��� ���������� ε(�r) ���� ���� ���� �� �����������
 � ��� ����� �

���%���
4��
� � 	���' &�� ����"����&���� ��� �
�%� ����� �� ������� ��������� ����� ��
����������%����
� ' �
������ ������#

!���� ��� ���%�&���� 	����������
� ��&�� ��� �

���%��� �������
� ��� ���$
	� .�%��
�  ���� �� &���' &��� ��� �����%������%�	��� P SRB

2 ����"��%���� ���
����%�
� -#-, ����;����� �


P SRB
2,total =

∫∫
x,z

∫∫∫
vx,vy ,vz

dxdydvxdvydvz s2D(x, z)f(vx, vy, vz)P
SRB
2 . QG#C(R

4���� �
 ��� 9��%�����
� �� 0�"���� -#-#- 	��� �
�%� ��� 	�����
�����%��� ������$
��� ����� �
�
����%��� ������������ �' &��%��� ��� 	��������� ������%��� ��%������$
"���� ����"��%��' ��� 7������������ ��� ���������� 
�� ��� 0������� ��������� &��$
���# 7� ������ !�������
� ���� ��&��� ��� ������������@�	�� ��� �
%� ��� �@�	� ���
���
������� ?������������S����� ��� ���������' ��� 7��������������� ��� �����5
�$
����� �@�	�� ������� �# ��� ������ ����%�
� 	��� ��� ����� 7��������������� ���
���������%�' &�� &�� ������ ��� ����
� �� ����� &�����'  
� ������� &�����# !�
P SRB

2 ���� N
���
� ���' 	��� P SRB
2,total �
%� �
� ��� N
���
� �����%���� &�����#

��� ��� ����
%���%�� ?��
������ &
��� ����� ��� P SRB
2 ��� ��%� �
� ��� �����E���$

������
� Q� �# 0�"���� -#-#+R �� ����� 4
���
%	 ��������� 
�� �� ����%�
� G#C(
���
���# >
 ��&
���� ��� &��������' ���� ��� ���5
�� ��� ����������������� �� .�%�$
�
� ��� ?�������������%�������� �� ������ D���
� �����%��
��� � &����� 	���# !���
��� � �����' ���� ��%� ��� �����
� ���
���������� ������������ ' ���%������� �
�%�
φ

(i)
y (yi) = keffyi%��(αx,z)' ��� ����� ���	�""
� �
� &��� 
����� �� ��� ���%�

�
 ��� �����������
 �� ��� ������ ������� .�%��
� �	��"������� Q� �# ����$
%�
� G#-:R# >
��� ��� ��� 1��"����
� �� ������ .�%��
� ��
���%�  ���� �� ��� ��
��� ������� ������ .�%��
� ��#

���� ���' &�� ���� ��&
���' ���� ��%� ��� ����� ���	�""
� �
�' �
��� ��%� ���
0������� �� ��� ����

K = χ ·KWF =
χ

2
�E"

{
−kBTatk

2
effT

2[(���(αx + αD) − ���(αD))2 + ���2(αz)]

2m

}

QG#C+R
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����������# ������� ����"��%�� αD ��� ���	��' ��� �
�%� ��� �
�
����%�� ���	�"$
"
� ��� ?"�� ��� �
� .��������
� ��� ?�����������	��; 
������ ��� ������� &���#
?���� &����� ���� ��� ������������@�	�� �� ��������%��� 4
���
%	 ��� ��� 0��$
����� KWF �������' &
����� χ ��� 0������� &����� ���' ��� ��%� ���� ��%� �
� ���
���
������� ?������������S����� �� ���# ?����� 4����������� �6����� D���
� ��$
���%���� &�����' �
�� �
�
%��� ����%�
� G#C( �
������%�  ��6�� &�����' 
�
����
� ��� 0������� �
 ��������#

!�� ����� ����&���������� ��� 0��������� αFWHM
x,z ��� ��� ��= ��� ��� ���6�� ��

8
����
� 
�� 4�������
� �� ��� 2
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� ���
����%������� σWF ��� ����������$4����������������� 
�� ���� ������ ����� ��%��
���� ��� �

���%�� 
�� ��� ���%�&���� 	�����������
� ��� ���������# 4�� 4
�$
 �� �"
�	� &��� ������� ��� ���<�	���� ��� 1��<�	����� ����� ����������$4���$
��������������� �
� ��� x$z$����� ���6�� �# >
��� &����� ������ 1��<�	����� �

�$
��%�� 
�� ���%�&���� 	����
���%��������� Δx' Δz' Δvx ��&# Δvz �� ��� ���� �����
N������������
� ����
 ��� �# ������� �� ���� ��%� ��� 9������ ��� �������
� ��
σrx,z = 23 μ�' σvx = 828 μ�A� ��&�� σvz = 220 μ�A� �
� ��� �� 0�"���� G#-#G
��� ��������� ����%���������# ?���� 	��� ��� 1��<�	����� ����� ������� �� ��������$
�������������' &�� ��� �� 4�����
� G#-(  ���� � ���' ���

�r(t) =

(
(x0 + Δx) + (vx + Δvx)t

(z0 + Δz) + (vz + Δvz)t− 1
2
gt2

)
QG#C)R

"������������� &�����# !�� 4���� �"������� ����"��%�� ������� x0 = −0, 207 � 
��
z0 = −0, 028 �' &
����� vx 
�� vz ��� ��	������ ���%�&���� 	����� -',* �A�
��&# (',C �A� ����# �� �� ��� ��%���� ����� 9����%��
� ��� �� ��3
����' ���
!�������
� �� �����	���������� �
 ���&�����' &��
�%� ��%�

�r(t) = R0

(
ρ(t)%��(θ(t))
ρ(t)���(θ(t))

)
QG#C,R

��� ρ(t) =
√
x2(t) + z2(t)/R0 ��&�� θ(t) = ��%���(z(t)/x(t)) �� ���# !���� ��� R0

W ('(+H � ��� �����%����� .���
� ��� ?�������������%�������� 
�� ����"��%�� �����
����� ��� ��������� N������
� #

�� �
� ������ 1��<�	����� ���� ��	��� ����� �
 ����%����' &��� ������� �
$
�
%��� �
 ��� <�&���� �� >���"
�	��� ��� 4""��	����� ��� ?�����������"
��� �� ����$
%�
� G#-,' ��� ��� �������
�	���� ��� ?
��� ��� >����	�$��������� ���������'
��� ������# !�� >���"�������� ��� �����%������ ?.9$0��; 
������ ���� ����� T =
6 �� ��&�� Tm = 37, 85 ��' &���� ��� ����� �
�� ��%� ����� >��� ��� G,':, ��
�""������� &���# !
�%� ��� �"���%��� �������� ��� ?�������������%�������� ��� ���
����������� �

���%� ������ ��# !���� �
�� ���� �
���' &�� �� ��� ����� 4�$
�%����� ������������ &���' ��� ��� ����"��%������ D�<�	�� ��������� &�����# 7��
��� ?��� ��� >����	�$0��S������� �n ��� ��� ����"��%������ D�<�	�� ��	����' ���
��� ����������� �
���
� �&���� ��;�����# !���� 	��� ���%����=��� �� 0����������
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&�����

� =�!9� ��� 4�����������,
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� ���������� ��� 4������
 ���
'������

*�� ��� &������*� �

��
 	����
 ��� '������������
���


� ���I������ �� ��� ������,

�
 ;����
���
��
 ��
� &������,
�

� ��� �
�����������
 4����
,
��������

��� ���  � ������ 1��<�	����� �� ����%�
� G#-) ��� ������ &�����' &��
�%� ��%�
���� ����������%����
� ��������� �
���#

�� ���� ����%������� ������ ����� �
 ����%����' &��� ������ ��� �� ��� ����$
������� 1��<�	������ &���������# ������� &����� "�� !
�%� �� ��� ����%���������
�
�
��� �
� �&
��� 
�� &�� ���� ������� ��&
���  �&�%����# 4
� ��� ��%� �� ������

�����%������%��� ����������%����
� �� �
� +((( !
�%��

��� &��� ��� ���������%��
?���������&��%�
� ��������' ��� ��� ������
���%������� σWF ' ���
���%�� �
�%�
��� �������������' ����"��%��#

��� (�


��

��� ����� ?��%	$��������$?������� Q?�?R &
���� �E��"�����%� ��� ����������$
��� ��� ��%�� ���&������� λ/4$����6 ��
� �"�
��%��� ���������# !�� 4
���
 �
�
!
�%���%��"���
� ��� �� 4�����
� G#-+  ���� �# ���� ������������ 9��%�����
� ���
������� �� � ;���� ��%� �� ��� 4����� L:GM# �E��"�����%� ��� ��� ��������� ���$
�������� ����� 
�����
%���� ����6 ��
� �"�
��%���� �� 4�����
� G#-- ��� �������#

&�����

� =�!�� ��� &�����

� ��� 4�7L�
�� ��� H���� ��� ?������,�����*��� �
� ���
'�
�������L���� ��� 'H' ���I������ ��
� ��
�
� /������

� ��� �
��� ��
 4�7L�
�
����B������
 ;����
���
��

���
��� �
����� �� ��$� �" �
� *�����3  ��$��� ��� N����"
���� ��� !��
�������������)�'� ���/
 �����  ���� O���% N
'���� .%.%?P%



++- ������� 3	 ��� 
5��������

��� ��� ����������� ������������� ��� 
�����
%���� ����6 ��
� �"�
��%���' ���
���� ������
� ��� λ/10 �
�&�����' �� ��� ��%� ��%� ��� ���� ���%��������� ������
��� ��� ?�������"������������ ��� �����%������ ?.9$0��; 
������ ���� ������$

���%������� ��� σ(λ/10)

WF W C'HH ����# 9�� ��� 9���%��
� &��� ���� �6 ��%�� ���$
	�""
� ��� ����������� �
�
%��� �
=�� 4%��  �������#

&�����

� =�!!� @�� ���
'H' �
���
����
� ;����
,
���
� 
��� ��� �
�����
�
�
��� ��
�� ��� 1����
����

λ/4,/���I���

����������
�

!�� ������� ��&�� ��� ���
����� ?"�� �� 	������ �
� ��%����%��� ������� ��%��
��������� &�����# !� ��� �����������"���;	������� <���%� ���� ������
� ��� λ/10
��� ��� ������� 
�� λ/10 ��&# λ/20 ��� ��� O������P ?"�� �� ��&# ��� ��� O�����$
����P ?"�� �� Q� �# 4��%����� G#G#+R �� ����' &��� ����"��%���� ��� �������
� 
��� ����6 ��
� �"�
��%���� ��������� ���� ����%������� ��� C'HH ���� ��� ��� λ/10$
�������� ��&# +',: ���� ��� ��� ��������� ?"�� �� �� ��%�
���#

!� ��� J������ ��� ������������������ �&���� ����%�������� �"���%��� ������$
�� 
����
� � �����%���� &����� 	���' �� ��� ��%� �
�%� 3
�������%��� 4
��
����$
��� ���  ������ �
�%� ����������������� ����� �� ������
���%������� σWF # �� ��
��� ��""����� !
�%���
�� ��� ��%�������� �
�%� ��� ���������� �"���%��� ��������
��&�� �
�%� ��� .�5�E��� �� ?"�� ��  ��� ��� ������ ��� ��������� �������� ���
��� 9���%��
� ��� σWF �&����%� ���#

�����
� ��� � ��� ��� ���
���� ?�����������	��; 
������' �� ��� ��� ������� ���
7��������������	�����' ��� ����6 ��
� �"�
��%��� ��&�� ��� ?"�� �� ����%	��%��� �
&�����' ���� ����%������� "�� ?%�
�� ��� σWF = 12, 3 ����# ��� ��� �� � �����
>�	�
����� ��� ?�������"�������������� ��� C'-) � �� ��� ��%� ����
� ���� ����$
%������� "�� ?�	
��� ���

σWF = 22, 2 ���� . QG#C:R

!����� .�
�%��� ��������� ��� 4
56�
� ��� 7�������������� ��� ����� ���� ���
*'G·10−7 ���A�

√
��#
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/��*���

� ��� ;����
���
��
 �

������
����� �����

� ������������

���� �
�
����%�� ���	�""
� ��� ����������� ���
���%�� �
�%� ��� �"���%���
�������� ����� �
 ����� &������� ���6�
� ��� ������
���%�������# 7� 4�����
� 
�� ��� 
���� �
�	� Q�R �
�%� ������� !��	
����� &
��� ���� �������%�� ���	�""
� 
��� ����������� ��� ��� ������� 
�� ������� ?�����������"
�� �E��"�����%� �� ��$
���������� .�%��
� ��� ��� ������ 7������������� ���
�����# 4�����
� G#-C ��� �
��� ���
��������� >
����� ��� ������
���%������� �
�%� ���� "���������� ���	�"$
"
� ��� �����������# ������� ���� ���� ��������
�%��� &����� ������� ��� �����
���	�""
� ��� + ���� �����%��# 4��� �
�� �
%� 
���� ��� 4�"�	� ��� ��������
$
�%���� �
� ���� �6 ��%���  
�� 4
���%��
� ��� ?�������������%�������� �
��������
 ��%���� &�����# �� �� ��� �6����� ���%�&���� 	����
���%������� �� ������������
.�%��
� ��� ��� ��������
�%������� ��� ������������ ���	�""
� �� ��� ���%� �

����� �����	���� ���	�""
� �6���#

B

	''���	


�� ��� "����������������

7� ������ 4��%����� &
��� ���� ���������
� ��� �����%��%��� �� ����������	 ���
����������������� ��� �������' &��%�� �
 ����� !�	��
�����@�	� ������' ����  ��=�
����������%����
� ��&��	�� 
�� �
� ��������
�%��� ��� 7�������������� ���$
��� ��# !�
���%� &
��� ��� N��&���� 	��� ����� ������ 1��"����
� ��� ���������
��&�� ����� "�
����� 4
���%��
� ��� ?�������������%�������� �
��������# !�� �����$
 ������� 4�������
� ���  ����� �� ����� 7������������� ��� �

���%�  ������$
��� ?�������������%��������� ��������� 	�����%�# 9�� ����� �
��������� ���	�""
� 
����� ��%�� �
� ��� 7��������������� ��� ��' �������  ���%������ �
%� ��� 7����$
�����������
�%��� �
# !�� ��� �������� ������ �
��� ��%� ���%�� �
� ������ 7������$
���������"�� &�� ���������� ���� �"���%�� 4���
���� ������� ��#
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+�- ��� #��������

!�� �
� ��� ���� ���%��������� 0��"������� �
������ ������� ������� ����$
�	�" ��� �� ��� �����
� ��
� &������� ?�6�
� �� �
� ������' ��� ��� ������
�$
��%������� ��� ������ 7������������� �� �������%��� ��=� �������
%��� �� 	6����

�� ����� ��� 4
56�
� ����������# !��� ���� �
� ����� �E����� �� ���������'
������������ ��� �� ������� ��� ����' ��&�� �����������' ��� �
�%� �	
����%��
?�6�
� �� ���� �
�%� ���%������
� �� ��� ����������� ��������� 	6����# ����
7�������� ������ ?�6����5���� ��� ����� ���  �6=��� ��%��� 	��� ��� ��� 4��������$
���������� 
�� &��� �� ��� ����� 
�����
%��#

$�:�� ��� �.���
� '��
��������
�����
�

4
� �&�� ������� �� ��� ��%� ��� N��&���� 	��� �
� ��������%	
� �E������ ��$
 ���������# �� ��� �
� ����� ��� �6 ��%��� ������
��� � 4
��6�%�
� ��� �� ������$
��� &
����� ��� ?������� �� �' 
� ���� �6 ��%��� ����� �����������"����
� �
�%�
��� ��&� �� ������� �
 �����%���# >
� ������� ������ &�� �� 4��%����� G#G#C ��$
�%������� �� ������� ��������� �� D�� ��� 7�������������� �
 ?�6�
� �� ��� ���$
�������%����
� ��� 7��������������� ����#

�� ������ ���5
�� �
 ���
������' &��� ��� ��� �������� 7������������� ��� ��$
��� - �� ��%	�� μ$�������%���� ������
��� ��� ������# !���� &��� �
%� ��� ��%��
�� �����%�� ���������' �
� ��� ��%� ��� ?����� ��;����' 
��%�������# ���� ��%�
������%� �� ��� �� ?%������ ��� �� ��� ��� >
 �� ��� �"���%��� ������ ��&�� ���
���&���� �� 0�����# ��� ������� ������
%�
� �� ��� ��' &����� �E����� �� ���$
������ 
� ����� ��	��� ��� H( 
�������%	� LC+M#

��� &������� ������� ��� ��� "��������� �� ������� ��� 7���� �����$�
�"�'
��� ��%� ��������� ��� ���%��������� 4��%����
� ��;����# �� ������ 9����� �

���
������' &
��� ��� &������� μ$�������%���� 
� ��� �
�"� �
� ���
�# !������
����
� &
��� ����
�  ��%����' ���� 0��"������� �� ��� N
�� ��� 7��������������
�
� �6 ��%��� 
��� �����%��� ����������� ��������#

$�:�� ��� ;�"����

���
�����
�

!�� ��� ��� .�%	��5�E ��� ?�������������%�������� ������&�����%��� ?"�� �� ���� ���
��� 7������������� ��� .�������# ?�� ������ ��� ��%� �
 ��� �������� 1��<�	������
������� ��&� �� 9��
 �������' ��� ��� ��� 4����� ��������� &���# ?� ������ ��$
��������� ��� ?"�� ��' ��� &�� ��&
��� �
�%� ���%������
� ��� ����������� ����
�
�%� �	
����%�� ���5���� ������ ��
��� &�����' �
 ����� �������%��� ���6�
� 
��� ��������
�%���� ��� 7�������������� 
�� �� �
� .��
	���� ��� 4
56�
� #

�� ��� 0
����� �� ������ �
�� ��

�%��� ��� ������ �
 ����������' &
���
���� �	
����%�� 7�������� �� ����%��# ?�� ������� �
� ����� ��� �E"������� 
�$
��������� ����	����� �
� ��� ���� ���	����
� �
� �%�����
�"������ 4	
���	$
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�%��
����@ �
� ����%�� ���#
9�������%������
� �� &����� �
�%� ��� "������� �	���� �����������������
� 

��� 1�"� .�!�����!�� �0' *�
�+  ��
�"��# !���� ��
 � ��� ���������� ��� μ$
�������%������' �
� ��� ��� �E"����������� ��������� �
5�� �# ?�6�
� �� �� �����
���3
��������%� ��� + $ -(( �� &����� �	��� ��������' &
����� �������� ��� -(( ��
���� "������ 7�������� ������ �# 1���� ��������%	
� ������ ���  ��
�"���� �����$
������ �
 ����� ����%������� ��� ����������%����
� ��� 7��������������� ����#
���� ��� ��� ����� ��@����������� 7������������������
� ��� .������� �
�' ��
�� �������� ��� �����	�" ���� ��%� �����������' ��� ��%� ��� .��������� ����������
������ 	6����# .���� 9��%���
�� 
� �������� ����� ��%� �
�%� ��� ��@����������
����������� �
�# 7� ��� ����� &��� ��� �� �
� 8
����;����
� ������ .�
�%�$
������ � �E��"�����%� ��� ��� ?.9$0��; 
������ ��� �������' &��%��� ����
� �
�
��� ?���������
���
�	��������������
� �������#

�	
 (�����

���� ���
������ ��� .�������' &��%�� �
�%� Ω(t) = Ω0 sin(ω0t + ψ) ���%�������
&����� 	���' ����� �
 ����� ?"�� ��������� dy(t) ������ ��� .�%��
� ��� ?�����$
��������%��������# !��� ����� � ���� B����
� ��� ��%������"����' &��%�� &�����
�
�
�%�

dφ(t) = keffdy(t) = keff l(t)Ω(t)dt QG#C*R

��� ������� &����� 	���# !���� ��� ��� 4������ l(t)  � ���� �
�%� l(t) = vx(t +
T +Tm/2+2τπ/2)− l0' &���� ��� >����
��"
�	� ���������%� �� ��� 7�������������$
��3
���  ������ &
��� 
�� l0 ��� 4������ �&��%��� ��� �������� ��� ������ �
����

�� ��� 7������������������ ���������# ��� � ��� ��� 9��%�����
� �� 0�"���� -#C#-'
�� �� ��� ��%� 
���� ���&���
� ��� ����%�
� -#,, �
� ��� ��� �� 4����� ����
���
��������� ����������%����
� 

δΦΩ = keff

∫
dt l(t)Ω(t)g(t)

= Ω0keff

∫
dt l(t) sin(ω0t+ ψ)g(t)

= Ω0keff�{G′
Ω(ω0)} sinψ . QG#G(R

������� ����"��%�� �{G′
Ω(ω0)} ��� .������� ���

G′
Ω(ω) =

∫ ∞

−∞
dt e−iωtl(t)g(t) . QG#G+R

4���� �
� .�%��
� �� 0�"���� -#C#- ��� ��� ������%�� ���$���� ��� ���	�� �$
�%�&���� 	���  � ���� �
�%� δΩrms = Ω0/

√
2# N
� 	��� ��� 1��������
�	���� ��$

�%������� &�����' ��� ���
HΩ(ω) = keffG

′
Ω(ω) QG#G-R
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 ���# !��� ����� �%����=��%� �
� 4
���
%	 ��� ��������
�%���� ����� � �
�%� .�$
��������' &��%��� ���%������� &��� �
�%� ��� ������� �
�%�

σ2
Ω =

∫ ∞

0

dω |HΩ(ω)|2SΩ(ω) QG#GCR

���%������� &���' &���� SΩ(ω) ��� �"�	����� �����
� ���%��� ��� .����������
$
�%���� ���# !�� ��&�%��
� ��
�	���� |HΩ(ω)|' ���%������� �
�%� ��� ?�������"�$
������� ��� 
�����
%���� ?.9$0��; 
������' ��� �� 4�����
� G#-G ��� �������#

&�����

� =�!=� ��� (������

��,
�

*���
 �7� �������
�
 ��� :

*,
���
 ��� :��G
�
�� :7� :��G
�
��
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 ! H� ������ ��� (�,
�����

���

*���
 *�
���
��

!� ��� ��%���� ���� ����
� �
� ��� 9������
� ��� 9��%���
�� 
� ���
$
�%���� �������' &��� �� ������ ?����� ��������� ��� �����
� ���
��������� 9����� 
�
� 7�������������"�������
�%��� �� � ����# !����� �� ��� ��%� ��%� LH*M �


σ2
a = k2

eff

∫ ∞

0

dω
|Hφ(ω)|2

ω4
Sa(ω) QG#GGR

��� ��� �"�	������ �����
� ���%��� ��� 9��%���
�� 
� ���
�%���� Sa(ω)#

��� (�


��

>
� 9������
� ��� �"�	������ .�
�%���%��� ��� .������� &
��� �
�
%��� ���
���%�&���� 	������
�%��� �� �&�� ���������� ��� �����	�"�
���
� ��������# >

������ >&�%	 &
���� �&�� ���%�&���� 	�������������� �� �&��  � ��������� �����
?����� ��� �E"������������ ��������� �� 4������ b ��� +'() � �
� ���
� 
�� ���
���%�&���� 	������
�%��� �� .�%��
� ��� ?�������������%�������� ��� �
�	���� ���
>��� ���� ���� �������� ��� : ?�
���� ���������#

��>� �
����� ��$� �" � �� �������$�� !������� ��� ,C'� (./!���"�"���� ��� 0��"
 "�����%
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�����
� �
��� ��%� ��� �"�	����� .�
�%���%��� ��� 9��%���
�� 
� Sa(ω) ��%�
����� 7��� ������ ��� ����&���� 
�� 
���� ���&���
� ��� ����%�
� -#:, ����%�$
���# !���� ��� �E��"�����%� ��� ����� ��� ���%�&���� 	������������ ���������' ��
4�����
� G#-H Q���	�R ��� �������# !�� �����%����� ����
� �� ����� �
�	� ����$
������ ��� ������ 9��%���
�� 
� �������� ��&�� ��� .����������
�%���' &��%��� ��%�
��� 9��%���
�� 
� ���������� �
���# 4
� ��� !�@����� ��� ������ ���%�&���� 	����$
����
� �� 
�� 
���� 9���%	��%��� 
� ��� 4�������� b �� ��� ��%� ��� .�
�%���
��� ���	�� ��%�&���� 	��� ��� �
�	���� ��� >���# ��� ����%�
� -#:, �
��� ��%�
�����
� ���  �&���%��� �"�	����� �����
� ���%��� ��� .����������
�%���� SΩ(ω)
���������' ��� �� 4�����
� G#-H Q��%���R  ���� � ���#

&�����

� =�!C� 06���������� ��� ��� ���*����� ��
��������� ��� -������

��

� ��� �
�,


� ��
������������ /�������
��������

� �7� ��
� @����������
 ����������� 2��
*�3� &
� ��

��
������*���
 ������ @����������
�
 ����� ���� ��� ���*����� ��
��������� ��� �������

��������
 2������3�

��� ��� 
�����
%���� ?�������"������������ 
�� 
���� ���&���
� ��� ����$
%�
� G#GC �� ��� ��%� ��� �
�%� .����������
�%��� ���
���%���� ��������
�%���
�� 7������������� ���

σΩ = 13, 5 ���� . QG#GHR

!��� ����"��%�� ����� 4
56�
� ��� ����
� ��� .������� ��� 5, 7 ·10−7 ���A�
√
��#

4���� 	��� ��� ����%�
� G#GG ��� �
� ��� 9��%���
�� 
� ���
�%��� ���
����$
����� ��������
�%��� �� 7������������� �


σa = 148 ���� QG#G)R

��������� &�����# ���� �� ��� ��%� ��� ���� ��� 6, 3 · 10−6 ���A�
√
�� ��� ��� 4
56$

�
� ��� ����
� ��� 7��������������#
!���� ����� ���� ����	 ��� ��� �� ��
� ������ 
� �� ���
� � # ?� &
���

����� ����
� �� ��� N�%�� �
�%� ������' &
����� ��� ���%������
� �� �� 1� 
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�
 ��
���%� �6����� .�
�%������
 �� ��� σΩ > 50 ���� ��&# σa > 200 ����
������ 	6����# 7� ��� ���%� �
� ���	��������� �����������������
� ' �� ��� ����
"�����  ��
�"�� &���' �� ���� ��%� ��������� �
� ����� N�%������
� .�
�%�&����
��� σΩ = 38 ���� 
�� σa = 1, 27 ���# �����
� &��� ��� ��
���%�� ��������%	
� 
��� 9��%���
�� 
� ���
�%���� ��� �	����� 7������
� ����%����%�' &
����� ��� �
�%�
.��������� ���
���%��� .�
�%��� �
%� �� "������� ���� ��� ���%��&����  ���� �
�$
�
���#

��� ������� ��&
���' ��� �� ��� 9����� ��� 9��%���
�� 
� ��������� .���$
�������
�%��� ���������# ��� ���� ��@���������� ����
� ��� .������� ��� �����
��� ��������%	
� ��� ������ 9��%���
�� 
� ���
�%���� �
 ��&�����' &
����� ���
.�������������� ��� .�
�%���� ��� ����� ���%��� ����
� �������� ������#

+�1 ��� ,������������
���� ��� #��������������

>������%�� 9����
 �' ��� �
� ��������
�%��� ��� 7�������������� 
�� �
 �����
	��������� ����������%����
� ��� 7��������������� ���� ������' &
���� �� ���
0�"����� C 
�� G ���%������� 
�� ��������# 7� 4�����
� G#-) ���� �
� ��������

&�����

� =�!�� 	
�����
����

� ��� J
�����������
 ��� +
���������������
��� 
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�����
��
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��� �
 �������
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J�����%�� ����� ��� ��������� 9����
 � �%�������%� �
������ ������#
��� ��� �����%����� ?.9$0��; 
������' ��� ���� ��� ��%�������� 7����������$

���5
%�� ��� :') ��2 ������� 
�� �
�%� ��� ?�������"������������ Q� �# 0�"�$
��� -#-#-R ���%������� &���' ���� ��� ��������� 9����
 � �
� ��������
�%��� ��
1������ G#+ �
� �������# !�� ����%������� ��� ��
%��� ��������' ��� �
� ��� ?����$

���%������� ��� 8
���� ������ ���' ��
%�� &� �� ��� ������� N��
� ������ ����$
%������� Q� �# 4��%����� G#-#GR ��%�� �� ��� 1������ �
�# ��������� ��� ��� ��� ���%�
��� .�
�%�
�������%	
� �
�%� ���� ��@���������� ����
� ��� ��� 9������
� 
��� �������� ���� �
� ��� ?
������ ��� Q.��������"���� ΔΦΣ

ΩR ��&# �
� ���
!�@������� ��� Q9��%���
�� 
� �"���� ΔΦΔ

a R ��� �������#
N�%� ����%�
� -#+(+ �� ��� ��%� ��� ������ ��������
�%��� σΦ �
� ��� 8
�$

�����
��� �
����%��� .�
�%������
 � σi# �����
� ��� � ��� ��� ��������� 7��������$
����� ��� ������� ��������
�%��� ���

σΦ = 155 ���� .

!�� .�
�%��� ����� �
 ����� ��&������� 4
56�
� ����� ��������� ?.9$7��������$
������' ���%������� �
�%� ��� ?�������"��������' ���

ΔΩ = 6, 6 · 10−6 ���A�
√
�� .

7� ����� �� ����� �
��� ��%� ��%� ����%�
� -#+(C ��� 4
56�
� ��� 9��%���
$
�� 
� �� �� ����# �����
� ��� � �
� ��� ��������� .�
�%��� ���� 4
56�
� ���

Δa = 3, 6 · 10−5 �A�2
√
��

��� ��� �����%����� ?.9$0��; 
������#
��� ��� �� ������ 4����� ���������� .�
�%������
 �� ���������� ��� �����

��� 9����� ��� �����������' ��� !���	�����"�������� ��&�� ��� �������������6$
�
� �� ��� ��������
�%��� ��� 7�������������� 
�� ������ �
 ����� ��������
� 
��� 4
56�
� # ��� �� 1������ G#+ �����
���%�� &���' ��� �
�%� ���� ��@����������
����
� ��&��� �
�%� ��� 9���
� ��� ?
����$ ��� �
%� ��� !�@������� ���� ��$
�� &������ ��������%	
� ��� ������� ��������
�%���� 
�� ����� ���� ���6�
� 
��� 4
56�
� �
 ��&�����# ���� 8
����;����
� ��� 0������������ ��� ���������
.�
�%�"������� �� ����� ��@����������� ����
� &
��� ��%� ��%�� �
�%� ������#

!�� ���� ���������� 4
56�
� ����"��%�� ��� ��&������� 0
�������
56�
� ���
������ ��������� 7������������� ��� �������� �����	�"�# N�%� ��� �� 0�"���� -#C#C
����� ��� 9��%�����
� 	��� ���� ���� ��� � �������� ��� 4
56�
� ��� ?������
���� ��� ������� ��� ������
���%������� ���6�� &�����# !���� ��� �����
56�
� 
��� ?������ &��� �
�%� !����� ��� ����������%����
� ��� 7��������������� ����
���������#

��� &�%��� �� 1��� ��� "����������� ����������%����
� �� &
���� �� .�����
������ 4����� ������� �������� ���� �� ��%�
���# !���� ���� �� 1������ G#- �
���$
��� �������# 7� ��� ���%� �
 ����� ����������%����
� ����� � �
�%� ��� �����$
������ ��� +'C, ��� ��� ��� �����%����� ?.9$0��; 
������ ��� ��� ����� ��� �
�%�
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���������� ��� ;����
���
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�� F
��1��*���

� �
������
� :7� ���
-������

� ��� �
�������
 4����
 �
� ��� '
���
���
�� ��� �
�� �
� ��� ��M���
���,
�
�� ���*���� ��
 N×O ��� '�
����1���� ��� ��M���
������
 @���

� �
� ��
�
 ��
���������� 
�����
� ��
 N−O �7� ��� J
�����7�*

� ��
�� -������� ������

�@�	� .�
�%�$ ΔΦΣ
Ω ΔΦΔ

a

������ L����M ΔΦ+ΔΦ′
2

ΔΦ−ΔΦ′
2

�����������
σΩ +C'H × I
σa +G: I ×
!���	����
σDet C* × ×
�����������������
σWF --'- × ×
.����$�����
σφ -'- × I
σI :') × I
σsep *'C × I
σd ('(,) × I
�� �������
σqZ ('(C) × I
1������ ��������
�%���
σΦ +HH

������� =�!� 	
�����
����

� ��� ����
������
 4����
1��������

��
 �� +
�������������

�@�	� ������$
����%����
� 

�����������������∣∣∣ΔΦWF

αx,z

∣∣∣ L����Aμ���M -,( ��&# +G)

��%�����������
� ∣∣ΔΦAC

Δν

∣∣ L����A	��M +H
�� �������
Q���  � ������ ����������R
|ΔΦqZ | L����M ))
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������������@�	�� ������ ��
���� ����������%����
� �����# ?��� ��� ������ 7�$
������������ �� ����� ��@����������� ����
� �"����� ������ ���' 	��"�������� ��%�
��� ����������%����
� �� L-*' :C' :HM# !�� ������
%�
� ��� 8
����
� ����� J���$
�� ��
� &
��� �� .����� ������ 4����� ��%�� �
�%� ������ 
�� &��� �� 0����
����� ��# >
��� ����� ���� �E"����������� J���"���
� ��� �� ��%�
����� ���$
�������%����
� �� �
�# ������� &����� �
%� &������ "���������� ����������%���$
�
� ��' &�� ����"����&���� ��� �
�%� ���� >&��$��������$����%����
� ��� .���$
�������3
��� ����� �� B����
� ��� ����� L:)M 
�����
%��# �� ������ &�������� �

	�
���' �� ��� ����������%����
� �� 	������� ���� ���� ��� ��� >��� ������� 
��
��� ����������������
� ��� ?������ �� ������#

!�� ��� �' ��&��&��� ��� ���� ���������� ������ ������
���%������� 
�� ��� ���$
�
� ���
��������� ��&������ 0
������
56�
� ��� ��� ����	� �
� ����� �����������$
����%��� ����
� ���������� ������ ��� ���%���� ���� ��&�� ��� 7��� ��������
$
�� 	��� ��� ?������ ���� �� ������� ��� ��� ����� 0�"�����#
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!�� ������
%�
� ��� �� �������� �����	�" �����%���� ���������� 4
56�
� ���$
��� ��� ?%�&��"
�	� ������ 0�"�����# ������� &��� �
%� ��� ���
��������� 7��� ��$
������
�� 	��� ��� ?������ ��������' ��� ���� ?��� ��
� ��� 4
56�
� ���6 ��%��#
7� &�������������� ���������������%��� ����
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��� 7�������������� ��� �������# ��� �
��������� ��
%�� ����� ��� .�
�%��� ����$
�� �
# !��� ��� � ��� ����� �� ��� �
��������� ?���������
� �
� ��������� .�
�%�$
�����
 � 
�� ������� ����
� �
� 9����
 �' ��� �
� ������������������ ���� ��$
 ������� ��������� ������ ����# ��� &������� �@�	�' ��� ��� ���  �6=�� &��������
��
%�� �
 ����� ���6���� .�
�%��� �����' ��� ��� ���� ���%�������� ����������
0������� ��� &�%������� >��� T # !����� ����� �
 ����� .��
	���� ��� ����%�$
�
� ���	���� κ 
�� ����� �
 ����� >
����� ��� ����������� ��������
�%���� ���
7��������������#

���� ��� �� ��� �� 4
� ���%�� ���� ��� ��� ��������
�%��� �
 ����� ��
%��
��� A→ 0 �E���"������' ���� ������������ ����� � �
�%� ��� ���� ��&
����� 9��$
��
 � �
 �����%��
��� ��# ���� �� ��� ��%� ��� ���� ��� ��� ��������
�%��� ���
29± 3 ����# !����� ���� &��� ��
"��
%���%� �
�%� ��� .�
�%��� ��� !���	�����$
"�������� �������� Q� �# 0�"���� G#C#-R#
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&�����

� C��� &�� :

*���
 ��� ��
����������
�
 :����� �� +
������������ ��
� ��� ?�
,
����� 2��
*�3 ����� ��� +
�����������������
��
����
 2������3 ������������ ��� 4����
��
,
����
 ��� 
��� ��
�� @������� 1�
 � � ����������� �
��� ��� �������
�
 @�������
 �
���
��
 ��
����� :�� ������
�

��� &������� >
&�%�� ��� ��
%�� ���� ���� ���6�
� ��� >��� T &��� �
�%� ���
����� ����
����� ����	� �S��������
	���� ��� ?���������
� �"�������� ���������#
�� �E�������� �������� � ������ 1�%���	��' ��� ����� ��� ��
%����
&�%�� �6 ��%�
���# !���� �������� �
� ����� �
�
����%��� O4
��"����
� P ��&# ����� O>
������$
"������P ��� 1��<�	������' &�� �
�%� ����� �
�
����%��� J������ �� ����������$
"
�� ��%� ��� ?�����������"
�� �6 ��%� ���# !���� 0����"�� &����� �� ��� �����
���	
�����#

����������
 ��<=3��������'����

���� �6 ��%�	���' ��� 7�"
��������� �
� ��� 4��� �
 ���6���' ������ ��� 4�$
&���
� �������� π$�
��� �&��%��� ��� �� �����%��� ?�����������"
����# !�� !�$
����������� ����� ��&�������� 7�������������"
����3
��� &��� �� L:,M ���%�������#
7� ��� ������
%�
� ������ ������� �� �����	�" &
���� �&��%��� ��� ������
π/2$�
��"��� 
�� ��� ������� π/2$�
��"��� ����� ?.9$0��; 
������ <�&���� �&��
π$�
��� �""�������# !���� &��� ���� ��� 0�������� ��� !�""���$����%������� .���$
�������3
��� ��� ?�������������%�������� ωL ��� ��������	��� �keff ��� �������# 4�$
����
� H#, ���
������� ��� �� ��������� 7������������� �������� 
�� ����� ��� ���$
&������� >����� 
�� ���3
����� �
������#

��� ����� ���%��� 0��; 
������ &��� ���� ��� ��%�������� ��
%�� ��� ++': ��2

�����%��# 7� 4�����
� H#: Q���	�R ��� ��� 7��������������� ��� ��� �
�	���� ���
?�������������%������"���� ��� �������# �� �� ��� ��%� ��� 0������� ��� K = 3, 6%#
��� ��� 4
56�
� ��� ��&�������� ?.9$7�������������� &��� ���� ��%� ��� ����
��� 7, 8 · 10−5 ���A�

√
�� �����%��' &�� �
� ��� ���
������ �S����� ��� ?��������$
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&�����

� C�E� 0��������� '�-,?�
B�
�����
 ��� ��
 �����
��
 	����
� τ
(i)
π/2 =

{12; 13, 8; 7, 5; 7} μ� τ
(i)
π = {24; 26, 5; 15; 14} μ� T1 = 50 μ� T2 = 4 �� Tm = 41, 85 ���

��� �
� &
����� ��� ;����
1�*���� ��

����
 :��G
�
��
 ��
� ν0<� "$C9�= (H� 

�
ν1<� "$=!C� (H�� J� ��
� ������� ��
������ 5��������

� ��� ���������
�

*���
�
 �

����
�����
 �
��� ��� 	��� T3 �
� ��
�
 ;��� 1�
 64 μ� ���������� ;������ �I������
��������� ��
� �
 ������ ��������

� 
���� �
������
�

�
� �"�������� �
��%	�
������ ���# !�� 4�&���
� �������� �
��� ����� �
 �����
���6���� ������ �
�� �� 4����� 
�� ����� �
 ����� ���������
� ��� ?� ����#
!��
�%� �� ��� ��%� ���  ���� �� κ$��	��� 
�� ����� ��� ����� 9����� ��� ������$
��
�%���� ��� -'HC ���# �������� ��� ����� ��E����� 4��� 
� �&����%������%�	���
�� 4��
� � 	��� ��� ��� 4����� ��� �� �&������� π$�
���' ���� ��� �
�	���� ���
������� ���� 7�"
����' �� ���
�� ��� ��� �� 4�����
� H#: Q��%���R ��� ���������
��	��� ����� �����
� ��� 4��� 
� ��S�����# 9������ ��%� ���� �
���� &��� �
�

&�����

� C�"� 2��
*�3 +
���������������
�� �
 &���
���*��� 1�
 ��� '��������������������,
����� ��� ��
�� '�

�,:��� 2������3 @�6����� &
���

���Q���
� ��� :

*���
 ��� +��
��,
���
������ 4�� 4
�� ���� ��� +��
�� ��keff 7��������
�
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��%� ���� �S����� ��� 	��"" ���� +(Y �����%��#
�� &
���  ���� �' ���� ��� ������ ������� ���  �6=���� >
&�%�� ��� ��� �$

�%��������� ��
%�� "�����"���� �6 ��%� ���' <���%� �
� ��� ��� ����� ������ ����$
��� >
����� ��� ��������
�%����# ��� ��%� ��� ����� ������� ��� 7��������������
��� ����� ?������������S�������' ���� �� �E"��������� ��� ����� ��
���%� ��������
�������� 1��"����
�' �������� ��&������# ��� &������� 0����"� �
� ���6�
� 
��� ��
%�� &��� �� ��� ����� ��� �������#

�
��� <����=@
����	������ '���4������� ���	������
��
&����



��� ��� 4�&���
� ��� 9��%�$D������������ 	6���� "�����"���� ������� ��k �� 7�$
"
�� �
� ��� 4���� ������� �� &�����# ?� 	��� ��� �

���%�� 4
��"���
� ��� ���$
����� 1��<�	������ ��
���%� ��� �6=��� &�����# �����
�%� ��� �� �6 ��%�'  �6=���
7�������������5
%��� ����
�%����=�� 
�� ����� ��� 4
56�
� ��� 7��������������
�
 ���� ���# 7� ������� 7��������������E"��������� &
��� ����� 1�%���	 �������
����� ���%� 
� ������ L::' :*M' <���%� ��%� ��� �� ����� �������� �����	�"#

�
����� ��� ���������%�� 9��%�����
� 
�� ���  ���
� 7�"���������
� ������
1�%���	 �� ��� ������ ���� 7������������� �� ��� 4����� L*(M �
������ ������� ����'
���� ���� ��� .������ ��� ������� �� 9������
� �� ��� ������� &�����/

��� &������� ����� �� �D�4$0��; 
������  �������� ��� ��� ��� 9��%�$D�$
����������� ���&���� � ��%������ ��� ����� ��������
� ΔBO �
� 52P3/2, F = 3$
N����
# N�%� ����� 4
�����
� �
�%�3
��� ��� ��%������ <�&���� ����� 4D� ��!�"$
"��"��� 
�� &��� ��%� ����� ����
� ��� ����� >
����������
� ��� ��� ?��������$
�����%������ ��� ��� 

=���� 4""��	����������� ������ ���# ������� ��� 4D�� 	���
��� ��%������ ���� �������� ���3
�������%����
� �
� �"�
 � &�����# �����
�%�
��� �� �6 ��%�' �� D�� ��� 4���� ��� ��&� ��� �"���%��� ������ �
  ���������' &��$
%��� �� ����� >��� tBO ��� 4���� �� .�%��
� ��� ?�������������%�������� ���%���
�� �
���� ��������# ?� 	��� "�����"���� ��� �� 4�����
� H#* ��� �������� 7����������$
���	��; 
������ ���������� &�����#

&�����

� C�#� @������ -����,
>���������
�
 ����������� '�-,
+
������������� ;������ �I������
��������� ��
� �
 ������ �������,
�

� 
���� �
������
�

!
�%� ��� 4""�������� ������ �
�
����%��� ��%�������� Q9D$��%������R 	�����
���� ���� >��� ��� tBO = 5 �� ���� 9��%���
�� 
� ��� 4���� ��� ��� �
 12 ��k
���������� &�����' &�� �� 4�����
� H#+( Q���	�R  ���� � ���# 7� 4�����
� H#+(
Q��%���R ��� &�������� ��� .��
	���� ��� �S����� ��� �������# 7� ��� ���%� �
�
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���� ���%��������� ��&�������� ?.9$0��; 
������ ��� ��� ������� ��� 9��%�$D�$
����������� �� ��� ��� ��������� .��������
� ��
���%� �@�	����� Q� �# 4�����
� H#:
Q��%���RR# ��� ������ 1�%���	 	����� ��� 	����������� ?����������� ���������� &�����'
��� ��� ��%� ��� 4""�������� ����� π/2$�
���� ��� 
� 2 ��k �� ����	��� 4����
��� ��� 9D$��%������ 
� &������ 8 ��k ���%���
�� � &
����#

&�����

� C��9� 2��
*�3 @������ ����
,'��*����*���� �
��� ��� �
��� -����,
>���������
�
 1��������
� ����
�
����G
�
� 1�������
� 2������3 @�6����� &
���

��,
�Q���
� ��� :

*���
 ��� +��
�����
������

���� ��� 9D$��%������ ������� ��%��  ��� ��� �����
� �
�&����' 	����� ����
������� � 9��%���
�� 
� �
� ��� �����  ���� �� ��������
� ��� ΔBOWH ���
�
�%� ������ &�����# !��� ��� �
� ��� �' ���� ��� 	���������� ?���������
� �"��$
���� �
 ����� ����	�� >
����� ��� �"������� ��������  ������ ���' &��%�� �%����=$
��%� ��� 0��
���� ������ ��������� �����6�� ���# !���� 	����� ��� 7�������������
��� ����� ���%��� ?�����������	��; 
������ ���� ��%� ��%�� ���������� &�����# !�
��� ��%����	��� ������ 1�%����� �� �� ��� ������ ����� �E"������� ������������
&����� ���' ��� �
�%� ��� ������� ����� ��
�� ������ ���� 4�&���
� ������ ��$
����� �
	����� ���	���# ������� ��� ��� ���  �������� 1����	�"�� ���� �����
� 
��� ��%�������� ��� ��&� 2× 400 �� �� D�� ��� 4���� ���&���� ' 
� ��� ����
��� ��������� 7�"
��������� �� ����� >��� ��� tBO = 2, 5 �� �
 ����������� L*(M#
���� ��� ��%�������� ��
%�� ��� ���� ��� +) ��2 �� ����� ?.9$0��; 
������ ���
����� 7�"
��������� ��� +( ��k 	��� ����� ���&��	��%�� &�����# !��� &���� �

����� ���6�
� ��� 4
56�
� �� ��� ���%� �
 ��� �����%���� 4
56�
� ��� +'*
������#

-�� ��� ��� ���)����
����

!�� ���%����=����� ����
� �� ����
%���� ��� 9� ��@ ��� 0��
���� ��� 4�����$
�������������# !��
 &��� �
�
%��� ��� �

���%�� 0��
���� �� .�%��
� ��� ?�����$
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��������%�������� ���������' &�� ����� 1��"����
�����
� ��� 4���� ����"��%��# 7�
����� &������� ����
� &��� ��� J����� ��
� ��� �
��������������������
	�
���
���	
�����# ���� &����� ��� ����� �� ������ �
�� �������� 4���� &��������&��$
��� 
�� �
� ����� ����� ��� ?� ��� ��� 7�������������� ���6��#

:� �� ��� ���	����� 1
����
�

>
� ������
%�
� ��� �

���%��� 0��
���� ��� 4���� �� .�%��
� ��� ?��������$
�����%�������� &
��� ��� >��� ��� ������ ����
���� ��� ��� ������� ?�����������"
��
�
	������� 
� ��� >��� δT ���
�����' &��
�%� ��� �

���%�� J�����"" ��� 1���&��$
����
�	������ ���� J����� ��
� �"
�� �������� &
���# ��� <��� ��������
� &
���
��� �&�� 
�����%������%��� ��������� ?.9$7�������������	��; 
�������� ��� ���
>����� T = H �� ��&# T = ('+ �� 
�� Tm =C*'* �� <�&���� ��� 7��������������� ���
&�� ���� ���%������� ���������# !���� �� ��� !�
�� ��� ��
"��������"
���� ���
τπ = 28 μ�#

&�����

� C���� ?�
����� �
 &���
,
���*��� 1�
 ��� 	��� δT �7� ���
�����
 

����
����
 +
������������,
*�
B�
�����
�
� (�B���� �
���
 ���
@����

*�� ������� ��� ��
�� (�
K,
:

*���
�

!�� �
� ������ ��������� ���������� 0������� ��� �
�	���� ��� ����
�����$
���� ��� ��� ������� ?�����������"
�� ��� �� 4�����
� H#++ ��� �������# �� �� ���
��%� ��� ��
=$�6��� �� �����
� ��� ����� ������ ����&���������� Q����R ���
ΔδTFWHM = 30, 1 μ� ��� ��� ?.9$0��; 
������ ��� T = 5 �� ��&# ���
ΔδTFWHM = 30, 6 μ� ��� ��� ?.9$0��; 
������ ��� T = 0, 1 ��# ��� �����
�������� ���%�&���� 	��� �� .�%��
� ��� ?�������������%�������� ��� ��keff/m W
++',)* ��A� �� ��� ��%� ����
� ���� �

���%�� 9����� ��� ΔδxFWHM = 358 ��
��� ������&��� ��� ������ ������%��� 9������#

!�� 1��"����
� �� .�%��
� ��� ?�������������%�������� Tat,y 	��� �
� &�� ��� �
��������� &�����/ 4
� ��� ���%�
����������� �� ��� ��%� ��� h/mΔδxFWHM = Δvy


�� ��� !�;������ ��� ��
=$�
�	���� ��� ��� ����%��
� σvy

1/
√

e
= Δvy/2

√
��4

��� ���%�&���� 	��������
� ��� σvy

1/
√

e
W H'G, ��A�# ?%����=��%� ����%���� ��%� ��%�
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����%�
� -#-+ ��� 1��"����
� �
 Tat,y = 312 �0# !����� ���� &��� �
�%� ���
1��"����
��������
� ������� .����$?"�	����	�"�� Q� �# 0�"���� G#-#CR ����
$
�� �#

:� �� '�����
������
	�������������


!�� 7�"����	���� ��� ?���������
� �"�������� ����� �
 �������%��� ����
��	��
��� ��
�����  � ������ 7����������������
	�
�# !��� ����� �
 ����� 4����� ��� >��� ���
������ �
������� 
�� ����� �
� .��
	���� ��� 0���������# 7� ��� ��%���� �����
����
� &
��� ������������' &�� ����� ������ �
������� �
 �����  �&����� 1���
&����� �
�����  ���%�� &����� 	6����# �����
 &
���� 7������������� ���������
��
�����' ��� �
� �������� ?
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	�
��� ��� �����
���%��� ������
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�������' ��� � 4�����
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� ������ ����
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�
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� ��� ������ 7�������������$
&������
�	������ ��%� ��� ������� �
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����� �
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������� � !C μ�� ��� +
����������������

� ��
� �
 &����*����
���
� $ ������

!�� 0������������
� �� ��� ��"�������� .� ��� &���� �&�� �E����������� �
�#
!�� 4����� ��� 0��������� ��� Tm = 100 μ� ��������' �� �
�%� ��� ����%�����
��� >����� Tm = T ���� &������ 7������������� �� <�&���� ����� �>$0��; 
������
 ��%������� &����� 
�� ��� ������� ��� 4���� �
� �
� ?� ��� ������ ��# !�� ?
�$
���
	�
� ��� �� 4�����
� H#+- �� ���
���# ���� ���� � ��� 0������� �
� ����� ����
��� C)Y# !�� �����
� ��
%�� ��� ����� >��� ��� Tm = 200 μ� �
�# ���� ��������
�
 ��� �&�� ?.9$7�������������� ��� 7������������� �� ��� �� �������� 9
����5�$
��������� L*+'*-M# >&�� ������ �
%� ���� ���� 4���� ��� �� ���� �� ��"��������
.� ��� �� ��� 7����������"������ ����' ��� 9
����5�$0��; 
������ ������� �����$
��� � ����� ������������� ���� ��%� ��� ?.9$0��; 
��������# !��
�%� 	���� ��
��� ����� �
 ����� ���������
� ��� 0��������� �
� ����� ���� ��� -+Y#

!
�%� ����  ��%��%	�� ���� ��� 7������������������� 	6���� ���� �
�
����%��
?
��������������� ��� 4�����' ��� ����� �� ������ �
�� �������� &
���' �
� �$
�"���� &�����# !�� ���6�
� ��� 0��������� ����"��%�� �
%� ����� ���6�
� ���
�����$?� ���$����%��
� ���	���� 
�� ����� ����� �
 ����� ���6�
� ��� 4
56$
�
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� ��� ��� ���%� ��� 0���������E�����
� �
� �������� 0������������

�� ��� ��%� ���� ?��� ��
� ��� ����%��
� ���	���� 
�� ����� ��� ������ ������
���6�
� ��� 4
56�
� 
� ����� ��	��� +'G# !���� ������� ��� ���� ���� 
����%��
���6�
� ��� 4
56�
� �
� ��� �' &�� ��� �
�%� ��� ��@���������� �����������
������� &����� ���# 4
� ��%����%��� �� ���������� ��� ���� N
��
� ������ �����$
�� �� ����� ��%��
56������ ���������' ���� ��� �����  ��=�� ���� ��� T ' �� ���
��� ��������� �E"������� ��%�� �6 ��%�#
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4
56�
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 ����' �� ��� 0�����������
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� ������ ���# !�� N
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� ��� �
��������$
������������
	�
��� ��� ��� 7��������������	 ������ ����� ��%� ������ ������ !�$
����������� &������� ������
%�
� �� �� ����� ��%��
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7� ��� ������ ����� 4����� &
��� ��� ��������� ����� ������������ �������� 7���$
�����������' ������ ����"�����" �
� ����� ��@����������� 9������
� ��� ������$
����%����
� �&����  � ���

; �� 4����������������� ���
��' �
� ������# !����
&
��� ���� 4
56�
� ��� ?������ ��� .��������� ��� 5, 9 · 10−6 ���A�

√
�� 
��

��� 9��%���
�� 
� �� ��� 1, 5 · 10−5 �A�2
√
�� �����%��# !�� ������ 4����������$

������� 
��%����=�� <�&���� ���� ��
%�� ��� :') ��2# J��� ���� 7��� ������ ���
?� ���� 	����� ���� 4
56�
� ��� 1, 1 · 10−6 ���A� ��&# ��� 2, 8 · 10−6 �A�2 ���
����� ������
� ����� ��� C( � ������� &�����#

���� �
� ���� � 4������ ��� �
� ��������
�%��� ��� 7�������������� ������$
 ����� �������� �� ��' ���� ��� �����%��� 0
�������
56�
� �� ������ ����� �
�%�
������������
�%��� ��������� &���'  ���� � ��� ��� 9����� ��� !���	�������
$
�%����' ��� �
�%� ����������������� ����� ��� .�
�%���� ��&�� ��� ������ �� .�
$
�%���� ��� ?�������������%��������# !�� 9����� ��� ����������� ��� �
�%� ��� �� �$
�
� ����� � 
�� 	��� �
�%� ���� ������� 7�������� ������ ��� &�����# ���� ����$
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��� �� 4
�&��%��� �
� ��� �������������
$
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� ��� ���������� ?������ &��� �
�%� ��� 7��� ��������
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	��� ��� C( � �� �����# ����%�� ������� ��� ��� ������%�� B����
� ��� ���������$
�%��� ����������%����
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�
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� ���  �����$
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�� &��� ����
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�%� �keff $
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� �
%����� �� ������%���  �
�����# !
�%� ��� 9���
� ���
!�@������� ���� �
� ��� ������ ±�keff $7�������������	��; 
�������� &����� �keff $

����
� � � 9����
 � ���������� L-*'*-M# !�� �
� ����� ����� ���&��	��%��� ��""���
��@���������� ����������� &��� �� 0���� ��"���� &�����#
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���' ��� ���
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 ������' &��� ��� .��������
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&�����# �����
� ��� � ���� ���������%�� ���6�
� ��� 4
56�
� 
� ����� ��	$
��� +'*# >&������ 	��� ��� ��� ������� ��� ��
�� ���
���� 
�� �����
�������
?"�� ��������� ��� ��� 7�������������� ���� 4�� ���"����� D"��	�
���
 ���&��	��%��
&�����# �����
�%� ��� ���� &����
� "�
������ 4
���%��
� 
�� ��%���
 ��%�� 0��$
��	�
� ��� ���� ?�������������%�������� 
������������ �6 ��%�# ��� ������ 4�����
&��� ��� .��������
� 
�� ��� ?�������
� ����� ��%� ���� ��� ���� 4""��	�����������
������%	����� ��%�$>������$7�������������� 
�����
%��# �����
�%� ������ ��� ���
7����������������� -1WG) �� ���� ��� ��%�������� ��
%�� ��� +, ��2 ������������
����# !��� ���
������ �� ����� "�����"������ ���6�
� ��� 4
56�
� 
� ����� ��	���
-# ��� ��� 0���������� ������ 4��
��� ��� ���� 4
56�
� �� 9����%� ��� ����$
 �� 10−10 ���A� ���	���# ��� &������� �� �
� ���6�
� ��� 4
56�
� &
���
�
�%� ��� .��������
� ��� �
��������������������
	�
��� ������������# !
�%� ���
 ��%��%	�� ���� ��� >���"�������� ��� 7�������������� 	������ 4���� �
� ���
������ �
�� �
�%� ��� .��������
� ��� ?
���������������� &����� �
�����  �$
��%�� &�����# �����
�%� &
��� ���� ���6�
� ��� 4
56�
� 
� ����� ��	��� +'G
������������#
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�
� �� �
� .��������
� ����� �
%����� ���������� ��� �������� 7���������������
�� ���%��# ?� 	6���� ��� ���������� �������� �� ��� 0�����
	���� ��� ?%�������$
��������� &�� ��� ��	

�$ ���� ��� ����������� ��������� &�����# ��� �����
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� ����� ��&������� 7����$
����������� ���� ��� ���� ������� � ��������� ���������' &��
�%� �� ������� 
��

���� 9���%	��%��� 
� ��� "����������� .�
�%����5����� ���� ���������%�� 4� ���
����� ��&������� 4
56�
� �6 ��%� ���#

!����� ����&��	���
 	���� ������� ��
�� �� ���<�	��� &�� 8�4N1�? �
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��' &��%��� ��������� �� 7�����
� ��� 8
������"��	 ������ ?�������� ��� L*G'*HM#
����%������ ����"��%��� ��� ��%����� ��%��� ���&�%	�
� �� ������ ���<�	��� �����
&������� ?%����� �� .�%��
� ��� �
%����� ���������� ��� �������� 7������������$
���# ��� ?�
���� �
� 4�&���
� ��� 
����	����� 4����� �� ����� 9���$��������$
0�������� L*)M ��� ��� 7�������������� �� ?%�&������� 	��� &����� �� ������ ���$
<�	� ���� &� &������� �������� ����������� 	���������/ >
� ������ ��� ���� ���
	���� 1��"����
� ��� 4����' ��� ���� ������ �S��������� ��
� ��� ?��������$
�
� �"�������� L*,M 
�� ���� .��������  � ������ ��6������ ������������@�	���
��&��	�# !������ ����
� ������ �
�%� ��� ����� ���� �� �� ���%������ ������ 0��$
������� ��
� �6 ��%�	����� ��� ����"
������ ��� 4���� ��� ��� 7��������������
�
� ����� 
� L*:I+((M# >
� >&����� ��� ���� ��� 	��"�	��� 4
���
' ��� ��� �
$
	����� �' �����"������� 7��������������� 
������ ��� ��� 
�� �
� ����� ����� ��$
	��� ��� ���%������
� �� ��� ������� 7��������������� ���6 ��%��# 0����������
��%��$ 
�� 4����������������� 	6����� �� �
 ����� ���������� ������
�  ���� �$
�%��� �@�	�� �
� 	
���� >����	���� ������ ��# >
� !������ ��� ���� ��� 4�"�	� ���
?%�&������� 	���' ��� �� ����� ������
%�
� �� �� .�%��
� ������
���&���
� 
������# 7� ������
�"��<�	���' &�� ��� 
���� ��� 4	������� �U��. L+(+' +(-M
���� ��`� L+(CM ��� ��%��� �� &����� ����' ���� ��� ������ ��� ����� ���������
��� �������� 7�������������� �
� ��%�6"�� &�����# ��� �� ��������� 4
56�
�$
 �� ��� 10−16 ���A� ��� .��������� ��&# 10−15 �A�2 ��� 9��%���
�� 
� �� ��%�
����� 2��� �������� L+(+'+(-M 	6����� ���� �
���������� "����	����%�� ��
����$
�� &�� ��� �����$1������ $�@�	�' ��� B3
�������"�����" ���� ������������&�����
��� ����%�
� ��%�&��"
�	�� ��� �������� 7��������������� &����� L+(G' +(HM#
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������� &��� 5��� ��� ����1�
��
 ����
 ��� �
����
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� �% ��
� ���� ������� �7� ���
+
������������ 
7������� ����
 �
�����
��������� ����� ���� �
�����
���� ��� 5�����
�
52S1/2 → 52P3/2 �����������

4������ ����� 87.� m = 1, 44316060(11) · 10−25 	 
�������
� � �� ��%

� λvac = 780, 241209686(13) ��
N������%�� ������������ Γ = 2π · 6, 065(9) ���
?
��� 
� ���������
� Isat = 1, 669(2) ��A%�2

.�%	���= ��%�&���� 	��� Q+ ������R v1,r W H'::GH ��A�
52S1/2$��"���������� �� ����3
��� ν12 = 2π · 6, 83468261090429(9) ���
������� >�����$����%����
� δν = (−1) ·mF · 0, 7 ���A�
|52S1/2, F = 1〉
������� >�����$����%����
� δν = mF · 0, 7 ���A�
|52S1/2, F = 2〉
8
�������%�� >�����$����%����
� 0 W H,H'+H��A�2

52S1/2 : |F = 1, mF = 0〉 → |F = 2, mF = 0〉
����������%	���=����%����
� δr,eff = ��keff/2m = 15, 084 	��
����������� ΩE = 7, 2921150(1) · 10−5 ���A�
��������� �������
� . W )C,+ 	�
����%��
� ���	��� ?� ��%$������ 4πm/h = 2736960875, 7 	 A2�
9���� ��� �@�	����� ��������	���� |�keff | = 2π · 2563309, 88 �−1
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LCM 2# ����� ��� �# 1������ #
J��� ��� ���5
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� ��� 9�&� 
� ���
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�� ����� ��%� ��� ���������%��� �������������������#
��>���������� ?����������' +*/+H)I+)C' +*+:#

LGM 9# �# K��� ��� .# !# .��#
D%����% ����� �� 
��� ������
� ��� �����F� �������� ����������#
���
	 @�����
' G(/C**' +**,#

LHM ����%�� �������' 9���� �
�������' ��� 1�� ��� �����#
A�� ���#��> ����� $ 
5��������#
?%���%� .��
�� $ N4?4 ����� .�"���' ?������� ����� !�"�������' -((:#

L)M 0# �# ?%�������' 1# 0�� ��' 4# ����	��������' �#?%������' �# �# ?������' ���
2#$�# .# ������#

1�� ��� � .�� ����� � ��� K�����
�
� ����� .������� ��������� #
���� ����	 
����>�	' +))/+G:HI+G*:' -((*#

L,M �# �# �# �� 9�� ���#
���������� ��� �� A������ ��� 6�����#
��! ������' ?�������' �����' +*-G#

L:M K# 2# !������� ��� �# �# ������#
!�@��%���� �� ���%����� �� � %������ �� ��%	��#
��>�	 ��#	' C(/,(H' +*-,#

L*M �# ������#
4� ���%���� ��������������#
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��#	 )��	 *������	' -H/+(**' +*HG#

L+(M �# .�
%�' �# 1������' ��� �# 9����#
1��� �� � ��� �� %������ ��
���� ��������������#
��>�	 /���	' G,4/C)*' +*,G#

L++M ?#4# ������' 2#�# ?��
�������' ��� .# K������#
�@�%� �� �����F� .������� �� ��� 8
���
���%����%�� ����� �� ��� N�
����#
��>�	 ��#	 /���	' G-/++(C' +*,*#

L+-M �# �# .����' �# 0# D���������' �# 9�������' 2# ?%����������' ��� 4# >��$
��� ��#

4��� &��� �������������� &��� ��@��%����  ����� � �� �� ��#
��>�	 ��#	 /���	' ,H' +G/-)CCI-)C,' +**H#

L+CM K�# 2# 9���T#
4����% �������������� &��� �������� ����� �������� #
��>�	 /���	 �' +G(/+(I+-' +*:*#

L+GM �# .# 9�����#
���� *������������>#
4%�����% �����' +**,#

L+HM �# 0�����%� ��� ?# K�
#
4����% �������������� 
��� ����
����� ����� �����������#
��>�	 ��#	 /���	' ),/+:+' +**+#

L+)M 4# ������' 0#U# K�
� ' ��� ?# K�
#
�� �$"��%�����  ������ ����
������� 
��� ���� ��������������#
�������
��' C:/-H' -((+#

L+,M 4# 9�������' �# ���"�����' �# K�%%��"
���' �# �� 4� ����' �# �������' 1# ��$
����	�' 4# ������' �# ����������' 2# ?�
����' ��� �#�# 1���#

4��� ��������������  ������$ ���������� ��� ��� ������������� �� ��� N�&$
������  ������������ %������� �#
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L+:M 2# 9# ��E���' �# 1# ������' 2# �# �%�
��	' ��� �# 4# 0�����%�#
4��� 7������������� ����
������ �� ��� N�&������ K������� �� �������#
)������' ,G/C+H' H:(:' -((,#

L+*M �# ������' ?# &# K���&' 8# ��� ' K# ��' ��� ?# K�
#
4 ��& "����� ��%��� �E"�������/ ��&���� � ������������� �� ��� ;�� ���
%$

�
�� %�������#
���	 ��>�	 $' :G/)CCI)G-' -(()#

L-(M �# ������� !�� ?�����' �# ����' 4# ������ ��' �#$K# 4� ����' �# �������'
?# 9���' 4# K������' 4# ������%��' 9# ������' ��� ?# .����
�#

����
������ �� �%���� ��� � ���%�� 
��� %��� �����#
-)�B 0 ���������
�' -((:#
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L-+M ?# !���"�
���' �# �# ������' 2# �# �� ��' ��� �# 4# 0�����%�#
1����� ������� .��������� &��� 4��� 7�������������#
��>�	 ��#	 /���	' *:/++++(-' -((,#

L--M ?# !���"�
���' �# �# ������' 2# �# �� ��' �# 4# 0�����%�' ��� ?# .�<��$
����#

4����%  ������������ &��� ��������������% ������#
��>�	 ��#	 �' ,:/+--((-' -((:#

L-CM �# !���� ��� �# .����#
������ &��� �������������� ���  ������������ &����#
=������ �� ������ @�����' H)' +:/+***I-((G' -((*#

L-GM �# ����&�	�' 1# ������%�' 1# ������' K�# 2����%�' �# ������' �#�# .����'
��� �#�# ?%����%�#

��
�� �
� ��%���������� &��� %��� �����#
��>�	 ��#	 /���	' +((/(C(-(+' -((:#

L-HM �# .�����' 1# 0������' 4# �����' 2# ����%	�' ��� K�#2# 9���a#
D"��%�� ������ �"�%����%�"� �� � ������� �����/ ?� ��% �@�%� �� � ������$

&��� ��������������#
��>�	 ��#	 /���	' ),/+,,' +**+#

L-)M 1# �# �
�������' �# 9�
���' ��� �# 4# 0�����%�#
���%����� .������� ����
������� &��� �� 4��� 7������������� �����%�"�#
��>�	 ��#	 /���	' ,:/-(G)' +**,#

L-,M �# �# .���' �# ��������' 4# K����' ?# K�
' ��� !# �# ����%����#
1��""�� �� N�
���� ?���
� 4���� &��� .�������� �����
��#
��>�	 ��#	 /���	' H*/-)C+' +*:,#

L-:M !#?# !
����' U#0# ?�����' ��� �#4# 0�����%�#
��� $���� ��������� �� �� ����$���������� ����$�������������� �� ��%  ����$

%�"�#
��>�	 ��#	 /���	' *,Q-GR/-G(:(+' -(()#

L-*M 4# ��
 
��' 9# K��
��' 1# �T�a3
�' �# K�����' ��� 4# ������ ��#
K����%���������� ��� ����� �� � %���$���� ?� ��% ��������������#
��>�	 ��#	 �' :(/()C)(G' -((*#

LC(M �# ��� ' �#7# .
�$9�� ' U# �
�' �# 2��' ��� ># ��� $?��� #
!������������ �� � ?� ��% 1�"� K��� 4���� 7������������� &��� ?���
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.���� 1����������#
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�# ������' ��� �#�# .����#
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��	 ��>�	 =	 �' HC' C/-,CI-:+' -((*#

LC-M �#�# ?� ��%#
� FT���� �
����
E �T�����T "�� �F�@�� �
 ���� ������� �FT���� ���� 
� �����$

�T���T��� �� �b������ 
�������#
B����	 ����	 ��� )�	 �	 �C���� �	 )�	' +H,/+G+(' +*+C#

LCCM 4# ��&���%�#
������ *������� A�������
>9 7�#�
�����! ��������! ��� B������#
?"��� ��$����� ' N�& U��	' +**:#

LCGM �# !# ������"�#
����� %����� ��� ���""�� �� ��
���� �����#
��#	 �� ���	 ��>�	' ,(' C/,-+I,G+' +**:#

LCHM K# ����� #
� /���� B����� ��0DE B����#
!�	���������' U��� ����������' -((-#

LC)M !�� 7��
���������� ������ 4����� &
���� ��� 7�	� 2�%��
� 
�� ����� 2�����

� ������#

LC,M K�# 2����%�#
��� ������ ��� ������ ����� 
5���������  �� F����������������� *�������0

�������� ��� �����
��&����� ��������������#
��! ������' 7�����
�� �� 8
���
� D"��%�' ������� ���������� ��������' -((G#

LC:M 1# ������#
�����������
 ����� �������������������  �� ������+,������ *���������������

��� ������ ��������������#
��! ������' 7�����
�� �� 8
��
� D"��%�' ������� ���������� ��������' -((,#

LC*M 1# ������%�#
.�
� ���������� �������� ������ ����� �� ���� ���� �������������>#
��! ������' ������� ���������
� ��������' -(+(#

LG(M �# ?%��6��� ��#
-�� ��� ��� 7����
���� G 2 ��� $����������� ��� -�������� ��� 7����'�����0

������#
4
����� +*G,' D������
� ' +*,*#

LG+M 2# �� ��
c�' 1#�# ������

����' 2# 0��' ?# ������' 4# K������' 4# ������ ��'
��� �# ������� !�� ?�����#

������ �� ��� ����������� �� � ��& ����� %��"�%� �����%  ���������#
����	 ��>�	 $' *-' -/+CCI+GG' -((:#

LG-M �# ���"�����' 4# 9�������' �# K�%%��"
���' �# ����������' ��� �# �# 1���#
!������������ �� ��� ��&������  ������������ %������� 
��� ���� ���������$

�����#
��>�	 ��#	 /���	' +((/(H(:(+' -((:#
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� ' �# 0�����%�' ��� ?# K�
#
���� �������������>#
4%�����% �����' +**,#

LGGM !#?# �����' 9#K# U�
� ' ��� ?# K�
#
���%����� ����
������ �� �/mCs$����� �� "����� ��%��� 
��� �����$%�����

����� ��� �����% ��������������#
���	 ��>�	 $' H*' C/-+,I-H)' +**G#

LGHM �# 9�� #
4������ 
�� ��������%	
� ��� ��������
�%��� �� ��� 4��������������$

����#
������F� ������' ������� ���������
� ��������' -((*#

LG)M �# ������� ��� �# ?�� ��� 777#
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?"��� ��' +***#

LG,M !# 4# ?��%	#
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� :, ! ���� ����' �������� +#)#
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�A��	�������' -((+#

LG:M �# .�����#
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�7��U$�K� ����� ���� K�# 0��4' -((G#

LG*M K�# 2# 9���T#
8
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� ������� �� ����$&��� ����$�"������� ��� �""��%������ �� �
�����$

��������� �����%  ������$�������� �������#
���	 ���	 ���#	' C) QCRQG,HR/G,HIH(-' -((G#

LH(M K�# 2# 9���T#
4����% %��%	� ��� �������� �������#
�������
��' C*/GCH' -((-#

LH+M K�# 4������ ��� K�# 2# 9���T#
�E�%� "���� ������ ��� ���� ��������������#
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